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What is Place Value?

The place of a didgit in a number determines its value, For example, the
number 3 has a different value in each of the following numbers:

3 1356 37
g “""""‘” E}E
o g i

™ All about the number 2,345:
1.How many ones are in this number? 5

;_g 2.How many hundreds are in this number? _3_
% 3. How many thousands are in this number? _2__
4. How many tens are In this number? ___4
5. which number is in the hundreds place? _3
2 3 4 6. Which number is in the thousands place? _L
2 hupdreds| [ 1e0 7. Which number is in the ones place? 5
Two thousand three hundred forty-five

+ + +

Heow many chocolate candies? Read each number aloud.

314112
1000 1000 1000 el e
100 © 100 %100 ¢ 100
[ ]
. 4 . . 1u.
213(6]4
1000 1000 e
100 0100 Y 100
g : g 101\11011110111..
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All about the number 3,487;

1.How marwy ones are in this number? /
2.How marty hundreds are in this number? 4
3. How mary thousands arein this number?_3
4. How marty tens are in this number? 8
5.Which number is in the hundreds place? 4
6. Which number is inthe thousands place?_3_
7.Which number is in the ones place? /

A

Three thousand faour hundred eighty-seven
+ + + 7

s ¢| You have 2 dimes and
I'\-_‘. — | your sister has 7 nickels.
penny 1¢

@ You_20 ¢

h

“:‘e sister _ 3D ¢

p u'e‘_;‘ Who has mare money? _SiS [253[5

(8 Howmuch more? __15 ¢ -20

= 15 +
quarter 2% How much money do you have altogether? 95 ¢ =20

55

Fill in the blanks of these multiplication circles so that the outer circle is the
PRODUCT of the middle circle and the innermost circle,

Put these numbers in order from smallest to largest.

| 47 42 74 |ao 47 74

[141 325 114 355|114 141 325 358
[167 182 176 148|148 167 176 18

02 120 118 201 210[102 118 120 201 210

Targest

95 209 232 290 223|95 209 223 232 290

argest

Label the fractions, then name them aloud.

'--K I i l i
;:_:'.dunofnin.ulur: 4 5
3 3 2
6 6 6

Continue each pattern:

7,14,21,28,35,42 ,49,56,63,70,77
5,10, 15,20,25,30, 35, 40, 45, 50, 55,60
3,13,23,33,43, 53, 63, 73, 83, 93.JL3,JL33

oblique

parallel harizontal vertical

Draw a HORIZOMTAL line
and a VERTICAL line to
divide this square into
FOURTHS.

Draw 3 HORIZONTAL
lines to divide this
square inta FOURTHS.

Use two OBLIQUE lines
to divide this square
into FOURTHS.

Draw 3 VERTICAL
lines to divide this
square into
FOURTHS.

PARALLEL lines never intersect. Lines that intersect at RIGHT ANGLES (90
degrees) are PERPENDICULAR. Draw the following:

Parallel Lines Perpendicular Lines (draw af Intersecting Lines that are
square in the RIGHT ANGLEQ neither parallel nor
to show thatit's perpendicular

perpendicular)

Number each clock face, then draw the hands to show:
Half past eleven

Quarter before twelve Twelve o'clock




Rounding Steps:
1.Circle the digitin the place to which you are rounding.
2.Look at the digit in the next place to the right. If it's 4 or less let your circled digit
rest. Ifit's 5 or more, let your circled digit soar one number higher.
3.Make all digits to the right of the circled digit zeros.

Four or less? Let itgest.
‘ Tl
s5 60 Five or more? Letlt soar.

Round to the nearest TEN:

35 “ 57 70
17 20 12 10 15 20

Round to the nearest HUNDRED:

BGos 564 600 675 700 353400
®s 421 400 231 200 649600
@0 115100 254 300 528500
1 i ] R
EEE L e e - - - - s
Round to the nearest THOUSAND:
@550 - 14641000 27513000 21332000
@12 421 _Q 23102000 649 1000
(ass 11101000 12541000 17282000
11 [

[ o m T mnmmmlmnmmm)ﬂmmmm%mmmmmmmmmm

1743 1107

Color pieces of each shape to match the fraction in front of it.

20 40 6(. BO 100 120

What do each of these fractions have in common?_they're all equal to one half

Fill in the boxes with the missing addends.

617} 34
+21 +13 +5l0

=

+
(G0 —
ool —
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88 34

35
24 PH 15
+12 {32
56 38 07

Color the MIXED NUMBER in each colored rectangle. Then draw an arrow that
color pointing to that mixed number on the number line below.

(]
(N

+
+
SI—luo n
Nl W

=
5
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Color 34 Color 14 Color 33 Color 24 Color 24 C

00000
05000!

|..OOO
I @000

Round to the nearest TEN Round to the nearest TEN :U.J.Q
Round to the nearest Hunoren __L/00 Round to the nearest HunDRen _ 1100 L ' ) , 'l, L ‘ R R
Round to the nearest THousano _2000 Round ta the nearest THousanp_ 1000  + f :4 LL:2 123 :¢L:a it i c
6
Trace all of the HORIZONTAL .
I v MA H Q;EEE-‘F rgf?.TracedaI[rofthe” f Addition Suhtract;_nn
Ines red, lrace all o =+ - =
| the OBLIQUE lines blue. 3+7=10 10231

Divide the heart into two equal halves wuth aVERTICAL line, Label each half
with a fraction and color the LEFT half red

Insert the correct comparison symbol between the numbers to compare them.

202 <2220 501 =501 110 > 101
453 > 435 492 > 429 345 <354

Order these numbers from smallest to largest

i1l 209 141 290 114|111 114 141 209 290

largest

|89 102 98 201 210 |a9. 8 102 201 210
179 132 155 123 197|123 132 155 179 19

Ial:el

Label each E}iece of each circle with the correct fraction. Remember, the
DENOMINATOR (the bottom of each fraction) is the NUMBER of pieces the

shape is divided into and the top of each fraction will be one,

Fill in the missing addends or sum to complete each number sentence.
3+[7=10 1+[3]=4
[@+3=7 Bl+o-=9 =
2+[7]=9 2+ 8 =[] 3+[l-8
4+[1-=8 4+[=5
Find the sums without regrouping.

23 52 31 18
+ 13 + 14 + 27 + 20 + 24
36 66 58 —38 49

57

-36

Find the differences without regrouping.

42 34 35 25
-12 -21 -11 - 10
30 13 24 21 15

Find ihe sums with re ouping.

1 11 1

19 14 4 112 21
28 1 13 213

+18 + 4 +58 +12

Find the differences with regrouping.

§@||mrsé==é@||ﬁ1|-.-.»

\D'—'D =




Match each shape to its name and attributes,
\\ ; Trianglg\

~ / . .
D———-«—;—-——./do Squara, N _ 4= Onevertex, one dircular side
— ~. hY =
S e Cone#"'\':"\ L~ No edges or vertices, 3D
A\ __‘..---‘f Ly
5N/ b
-‘1'}‘.5-——\\—7(-__.; Cubold=—" /< N _s. 3Dwith 2 circular ends
~ /3

~7N, * 3sides

¢ 12 edges all the same length

Sa Sphere—=—"1, , f_‘_,n. @ vertices, only 2 sides are squares

——f————-= Circla.,
/N e N
ﬁ__;.i__\\____n Cylindes-=" ?-._“ % 4sides, all the same length

~

— -~
-———--_\(_._n Rectangle,_/ . Closed, curved, 2D shape

A \__o Pyramid_,."r__\..,_____- One vertex, one square side
N \ / -
{E\; . Gval—.;___.__\:uq_- Mo edges or vertices, but not a circle
rrrrr Y / ~.,
(- & Cube/ "= 4 sides, not the same length

How much money is this?

Date
Find the sums with regrouping.
11 I IJT
17% 24@ 72@ 18@ 21
+18 + 17 +19 +38 +12
3610 4210 9117 568 313

+
ojab
(o] [=,] S Tap
+
ODINN
(@] \STN]
olntn |

+
1 N‘Or—“'
+
gul—h—t
o]
(9)ES NoRguIE 19V

+ +
L b i [
QND = ~J— H

1.1
13 29 36 15
+268 +34 +335  +15
4 64 70 30

- Find the differences with regrouping.
& e
88 50 w I = )
+& - 10T == g*l e |3 .
ee & 3 125 2= 2 o
- 23] 34l .
$2 h2 $1 77 Fill in each square with factors such that the product of each set of factors,
i o [ horizontally and vertically, are correct.
Fill in the blanks of these multiplication circles so that the outer circle is the 717 712 719 e 7117
PRODUCT of the middle circle and the innermost circle. S 17 |se 714 |s 3126 9 ElE
56 49 I 21 18 56 9
7164 718 [ 713 714 Js
Of5hs 2136 10} 7 |0 36 s
63 30 14 24 70021 a1 24
T14|= T 100 T15 | T18 s
4182 519 s 616 | 915 s
I 35 90 42 30 63 40
10
Date
a_ 1‘3
23 8
3+

O acld zer0 e ol
B (§ ' IR cdoubles plusone
« « IO -cd nine

B ({ K0 tcns partners [ (U addten
« « IO 2cid 100,1000

Edb:* 500 =700) 300 + 400 0@ 100 + 200 300 200 + 400 600

Find the sums.

3+2= 2 6+9= 15 8+5= 13
30+20= KO 60+90= 180 80+50= 130
300+ 200 =500 600 + 900 =1500 800 + 500 1300

What time is shown on these clocks? Write the time on the digital clock below.




Draw lines to match the polygons across all three columns.

3 sides % A !Pentagon
~ AN /
6 Sides—— ——mme NP \ /  Triangle
- \“-.\ N, /
P /// \}‘\ !.-’
.,
10 sides”” ~</~—Heptagon
/// \\ ;f x\\
-
8 sides, /1,.\ ;"\ “Hexagon
\\\ p ///// \\\ f \\\
~ V. ~
4 sides-———>g 7 LY \V,Octagon
A N N ~N,
. P N \\ f \></’ \
9sides” 7 N 1 PN Decagon
// \\\ !’)\/\ \\
s AN /f AN M
7 sides’ / \ Nonagon
/ \\
/ N,
. / N .
5 sides 7 “Quadrilateral

There are many tyﬁes of quadrilaterals (shapes with FOUR sides). Draw
lines to match each quadrilateral to it's most specific name.

H‘\““‘. \“‘x. ,.-—-*"’"“.‘"r.
~ —— ,
~ ——— o ,
P ~. ~
rectangle SQUATE parallelogram rhismibus trapezoid

Geometry Riddle:
What's a polygon?

>
A dead parrot ' ' '
13

Date

P -1-

Subtracting 100 is the
same as subtracting 1
1 the hundre

Subtracting 100 is the
same as subtracting 1

Find the SIUMS and DIFFERENCES by adding or subtracting mentally.

ggg}lo =_33 bR 777-100=67] 111-100=_11_
7501= 74 subme 1445+1000 =2445 4045 -1000 =3045
405I:+100=_5_QL#.‘I‘-'" : 134-10=_124 1027-10=1017

a 241+1000=124]1 2410 +1000 = 3410
55-10=_40 st 358-10=348 598-10=588
29+1=_30 wun 321+10=331 300+10=310
193 -10= 1837 2755 - 100 =26AR5 2550 - 1000 =1550
275+100 =375 825 +1000 =1825 3105 + 1000 =4105

1100 +100=1200

3104 +30=
1505+50= _1555
1342 +500 = 1842 i
1272 +400 = 1672 #5iaisa.
2113 +2000= 4113 ¢

1004 + 300 = 1304 &=

Draw a dot inside each angle. Count the numbers of angles in each shape.

O OMNO

_O_angles _S_angles _5_angles A_angles

angles

Write straight, right, acute or obtuse below each angle.

_right  _obtuse _acute _straight

Draw lines to match each angle to the most correct measure.

Trace the existing numbers, fill in the missing numbers and color the squares
with EVEN numibers yellow.

Date

= =
1.Read the problem carefully. @ N o
2.Circle the question. ! \
3.Underline the impertant information.
4.Cross out arty information that doesn't matter.
5.Draw a picture and write a number sentence. Solve the problem and show your work,
6. Check, Re-read your problem and check your work,

I'took my six kids to the library, where they each borrowed five books. T
borrowed ten books. How many books did we borrow altogether?

Draw a picture: Mumber Sentence 1:

6 x b =30

Number Sentence 2:
+10 =
Boaks

You read three books last week. One book had 383 pages, one book had
|51 6 pagﬁg and one book had 209 pages. How many pages did you read
ast week?

Number Sentence:

383+516+209-1108

Fill in the blanks of these multiplication circles so that the outer circle is the
PRODUCT of the middle circle and the innermost circle.

98 | 99
108|109(110

102 (103|104 105 |]106 | 107
114|115

15

88 2
0
6)'® ab
296/ \18\o%
40 56

16




Color the coins needed to buy the sailboat.

L .jﬂi

86|
Q15|+
72 30
814 |2
419 s
32 36
8] 7|
T In
21 49

width_2 inches

818 s+ 813 |
213 s 107 (o
6 24 B0 21
8 10 [so 815 o
815 jao 016 |
G4 50 w30
812]s 819
714 s 3)2|e
%6 8 [ZINT

Fill in each sguare with factors such that the product of each set of factors,
horizontally and vertically, are correct.

812 |s
155
® 10
816 |+
413 e
32 18
818 [s4
619 |54
43 T2

Use a ruler to measure the length and width of

congruent shape?

this window in inches. Remember to write the
units! Trace all horizontal lines purple.

Trace all horizontal lines purple.

Trace all vertical lines yellow.

Trace all obligue lines green. )
Draw a red line of symmetry. answers will vary
What would be the measurements of a

vl

Date
Each box holds a HALF DOZEN donuts. How many donuts do you have?
> 2 2 2

O+ 0+ 0 +10+10 +10+10 +10= 80 €—
_']_D_X_B_:_Bﬁ_t_ multiplication

Each watermelon slice has FIVE seeds. How many seeds are there?

0000000000

L+L+5+5+5+5+5+5 +5 +5=50€]
_5_X_]_D_:_5D_ & multiplication

Each bunch has THREE bananas. How many bananas do you have?

eSS

S+ 3+ 3+3+ 3+ 3=18 &= repeated addition

length O ._5_).;73_:_-]_8_ & multiplication
17 118
Find the products Find the quotients. Date
8x8= a4 7x6=_42 49+7=17_ Mutiplication Dhvisian Fractions are pieces of things.
exs=aa  7wizess saed=n | 150000 o0yl | AR IR
8x1=_8 7x1=_7_ 84+7=12 + " 2 . :,q ) pressoipiza.
8x5=_40 7x5=_35 72+8=9 Find products. Find quotients. T‘. -3 4— ]
8x7=56 7x11=_177 42+7= g 2:;2:_4%_6- :3:;:é -
8x2=_16_ 7x4=28 56+7=8 8x8= 64 84:7< 12
8x11= 383 7Xx7=49 88+8=11 8x5=40 72+8= 9
8x10=2380 TX1=_7_ 48+8= 6 8x7=56 42+7= 6
8x4= 3 7x3=21 63+7=9 :Xf1=1_82 56+?=%
8x12= 96 7x8= 56 28+7=4 | | 5 iz,j:E
8x3=24_ 7x9=_463 56+8=7 8x4= 32 63+7= 9
8x9=_1_ 7x10=70 96+8=12_ 8x3=24 56+8=_7

Trace the existing numbers, fill in the missing numbers and color the squares
with EVEN numbers yellow.

495 | 496 | 497 | 498 (499 501 | 502 | 503
505 | 506 | 507 (509 510 | 511 | 512 | 513 | 514
Complete these Fact Family houses.

8x9 =2||8&x86 =48 =56

9x8 =72||6.x8 =48 =56

2+9 =8 +6 =8 =8

2-8 =9||48+-8 =6 =_/1
19

Color the number in each colored rectangle. Then draw an armow that color
pointing to the number on the number line below.

mixe mixed mixed whaole mixed
number number fraction number umber
Color 24 Color 33 Color 4 Calor 1} Color 44

@O

@O OO0

o 2=
_ OOS]

0«00

0000

-1
1t

Lo
o V.

[
o R
™
W
-
PR §
.




TDOUENT 3 pizza 2ach NIgt for 3 week, EAch pIzza Your INTEe Cats £ach Nad FIVE RITEns! O, my
was CUL inte elgnt pieces, | ate them all. How goodness! How many kittens are there?
marty pleces of pizza did | eat?

Draw & picture:

Write a number sentence.

3 x5=15

Draw lines to divide each set into equal halves, If there is a leftover, circle it in
red, then use a vertical line to cut it in half.
eladl el "'é::: --

3+2=11/2

Do you see a pattern? Look at the boxes above with an EVEN dividend (6 and
B8). Now lock at the boxes with an ODD dividend (7, 5, 3 and 9). What's the

FIae 5;.-;:; Fraas

Date

13x1= I5x1= 1 ?
13x10= i 15x10= 18540
13x 100 = ) 15x 100 = 1l|54040
13x1000=| | [ | 15x1000=| {5} 0} 0} 0]
2M7x1= 2[7] 19x1= 1[9]
27x10= 2170 19x10= 14940
27x 100 = 217040 19 x 100 = 1fojofjo
27x1000={ 24701010 19x 1000= {9010} O]

Find the differences by regrouping

LRI B
: Sou|ERme  |7sllER=m 60
pattern? odd leaves a remainder Dlokl® == | 1ubl&*==z I
35 * o5 =¥ s
Use th ds to label the di
é;{ggﬁegrg a Greek Prefix ;llggwsber of bgleow__ese words to label the diagrams
factors divisor L L
treat praduct multiply 2 3 4 5
- quotient divide - 1 - - - |
anon nona nine dividend equal oll7 oN7 o] nl oL
- Multiplication
heax hexa SiX + 3 ’ > ne
theap | hepta | seven 3x7= 2‘_1 -1 - ~% - 16
edea 145 143 0 05
deca ten Division _ .
coat i
octa eight [3 8 4
21+7=3 4 1415| 12 <
tenap | penta five 4 10 3o 2R 3l
21 22
How much time has elapsed between each set of clocks? Date
Compare these fractions by drawing the correct comparison symbol (<, =, =)
between them. Use your FRACTION BARS or FRACTION CIRCLES to help.
sl 12 1_1 1_3
24 8°5% 2°4
1 S 1 1 S 1 2 < 2
4 (1 3>3 578 5<3
Color pieces of each bottom shape so it matches the top shape. Then write
10 minutes 5 minutes rentti 5 minutes 10 minutes each equivalent fractions number sentence.
earlier earlier currenttime later later

Tme | howrs | minotes
30 5

“ — @ . .
430
I hourand 5 minutes < hoursand i minutes
tme | Nows | minutes = o
1100
@ ~ @
j 12:10
1 hourana 1D minutes 1 hourana DO mirvates

23

1_
2

3

Draw lines to match: Here's the challenge from today's video:

product,.\\ f,.-__z%

—LeoRe

numerator—-\‘\;vh ""/ S2x2=4

denominator. :‘?\\ 5 2 2 _
N 3 + 5 1

s ~
whole number” / \“‘\.\‘4+2 =4
~
-

2 whole
) ~2
mixed number’ ~3 fraction  fraction number

24




Fill in each sguare with factors such that the product of each set of factors,
horizontally and vertically, are correct.

8 |6 3 ElE 15w
5409 Jss 6] 8Jes 710]»
40 54 48 72 56 30

1 Bl 8 8 e 3
0] 8 Jso 1] 7] 64 )
80 72 88 56 48 16
Color each rectangle according to the product of the numbers inside:
o-25 I 51-75 100+

26-50 B 76-100

Date

Divide these stars into 4 groups.

How many stars are in each group?
1
What Is - of 247 6

Divide these balls into 3 groups.

How many ]ba s are In eac group?

What is of 27

Divide these apples into 2 groups.

What is % of 22 12

Divide these dots into & groups.

1ofag? 8

What is 5

Find the products.

Find the quotients.

8x4=30 7x6=42 48+8=06

8x9=72 7x12=84_ 63:7=0

8x1=_8 7x8=_56 16+8=2_

8x6=48 7x5=_35 64+8= 8

8x7=5A 7x2=_14 56+8=_7

8x12=9A_ 7x11=// 32:8=4

8x5=40 7x4=_28 56+7=8

8x8=H4 7x10=/0_ 49+7=7_
8x3=24 7x3=_21 24:8=3
8x10=_80 7x1=_7/_ 96+8=12

8x11=283 7x9=63 72+8=_9

§6x2=_’ui 7x7=49 40+8=5

Place the correct comparison symbal (<, >, =) in the circle between each set of Date

shapes. Then write the fraction on top of each shape.

$°d HH Mo
[Pl el Cod
oy [ o
l]@l] O@Q 0 &

Color the coins needed to buythe robat.

Color the number in each colored rectangle. Then draw an arrow that color
pointing to the number on the number line below.
mixed whole mixed fraction mixed

Color 33 Color 23

mixed

Color 38

mixed

Color 24 Coler 3 Color § Color 1 4

P
Jifl 1
B
-

-
oL
Ll
e
[

13
7

o
e
L
o
[
e
el
ot

-
.

Add the fractions and color the sections of the empty circle to find the SUM.

D@

whole

fractlon fractlon number

whole
number

e

fraction fraction

©-3@®

ey

@@0@@0

oneless  one more ten less ten more 100 Iess 100 more
34,25, 26 47,49, F 103, 204
50,51, 52 5,15 25 252857,95
32,33, 34 18,28, 38 176 276376
16;17&3 47,57, 67 215315,415

27x1=

27x10= 2
27x 100 = 207
znmoo— 20/30

19x1= 1
19x 10= 109
19% 100 = 910
19x 1000 = 19408 ONO




Fill in the missing factors to complete each number sentence.

Date

| (=] |m] [m] |m] |

8x[2]-40 3x[=-21 9x[g]=72 Trace then write each word,
[Elx3=24 Elx9=45
7x[Z]=49 8x[Z]=56
4x[2]=16 ax[5]=20
[lx4=36 [Exs=32
3x[Z=21 12x[2]= 96
[Ex3=15 [@x9-=63
Can you solve these multiplication puzzles?
20x14]=]58 1{x]5]=1]>5 1]x
X X X X X X X
3lx|3]=19 4lxl1]1=14 2l x
alxll2]=172 41x]151=120 2]x
Put these numbers in order from smallest to largest.
[21 41 12 27 45|12 21 27
|315 351 311 113 305| 113 36 31 315
- - Multiply the number by each of the numbers in the center circle. Write the

Complete these Fact Family houses, products in the outer circle.
12x8 =96(|8x9 =72||8.x8 =64||7_x8_ =56
8x12=96112x8 =72||8& x8 =64||& xZ =56
%+12=8||[2-82=9||4+8 =8 |[56+7 =8
%68 =12|172-9 =8 |64+-8 =8 ||56+8 =7

29

Capacity Measurement:

How mary cups fit in one quart? 4 How many pints fitin one quart? 2

How many cups fitin one gallon? 16

How mary quarts fit in one gallon? 4

How many pints fit in one gallon? _8 How many pints fitin two gallons? 16

Write the correct comparison symbal (<, =, =) between each set of capacity
measurements. Remember the shark always wants to eat the LARGER amount.

5

Let's make a VENMN DIAGRAM.

Think of your favorite book that has been made into a movie, Write down as
many things as you can think of that the book and movie have in common,
then write lists for just the book or movie that they don't share.

Date

30 minutes 15 minutes ) 15 minutes 30 minutes
earlier earlier current time later later
2 45 3:00

How much time has elapsed?

—
time

haur

2:25 PM

[2:33 FM

S | minutes

If 53, TRADE G0

Are there more than 60 minutes?

7 __hoursand

DO minutes

nutes for 1 hour,
minutes

me hours | minutes
5:12 AM
y 43
B:47 AM 47
minutes

Are there more than 60 minutes?
If 50, TRADE 50 minutes for 1 hour,

3 hours and _ 35 minutes

How long is your flight?

How long is your movie?

How long s your day camp?

Are there more than B0 minutes?
If 5o, TRADE 60 minutes for 1 haur.

hours and __7: minutes

[ Thotomi— = Admtone |2
GRS | Star eg?% ] St EEAM
prival S | Eng fg’m | End  ESEPMIES
———— ""---_'__? =
Mme ] nours ] e | e ] nours ] e | Tme 1 nours e |
520 AW i [10:10 AM| 50 405 AM 55
- |2 10
1 3 2
445 P 1:15 P 15 3:55 A 55
B minutes minutes minutes

Are there more than 80 minutes?
If so, TRADE 60 minutes for 1 haur.

3 hoursand _5  minutes

Are there mare than B0 minutes?
If so, TRADE 60 minutes for 1 haur.

6 haursand 50 minutes

32




Find products. Find quotients,

Find products.

Find quotients.

6x12=/2_ 36+6=6_ 8x12=96 64+8=_8
6x3=18 72+6=12 7x12=84 72:8=_Q
6x8=48 66+6=11 8x8=_64 63+7=_9
6x5=30 24+6= 4 7x5=_35 84:7=12
6x6=36_ 42+6=_7_ 8x6=_48 56:8=_7
6x2=12 54+6=9 7x8=_56 96+8 =12
6x11=66 18+6=3 8x11=88 56+7=_8
6x9=54_ 48+6=8 7x9=_63 48:8= 6
6x4=24 30:6=5 8x9=_70 49+7 = 7
6x7=42_ 12+6=2_ 7x7=_49 40+8=_5
Draw hands on each clock to show:

Quarter Before  Current Time Quarter After Half Past

Round ta the nearest TEN
Round ta the nearest HUMDRED | 4_‘ 10
Round ta the nearest THOUSAND I 000

1831

Round to the nearest TEN

Round to the nearest HUNDRED 8; E 1
FRaund to the nearest THOUSAND: 2 (01010

Round ta the nearest TEN

Round ta the nearest HUMDRED 26_‘ )
Round ta the nearest THOUSAMD 3[ ][ ][ ]

2114

Round to the nearest TEN

Round to the nearest HUNDRED 2 Q0

2560

Date

Find the price of each meal. How much change will | get if | pay with $10.007

Hamburg 3.20
FUN FooD MENU French Fries 1.65 $]0.00
Homburger ~ $3.20 Soda [ +_1_.j_9_ A - 6.04
Hot dog $1.50 | b ofal
Pizza $2.80 '@ total $_6.04 change $__3.96
S 3123
Apple Slices 3188 | L 2.80 $]0.00
hogean  $279 | Sedagr + 119 27399
éﬁ\ total § 3.99 Hnchr.lngs $7601
Hot dog S0
‘“& Salad 25 $]OOO
| ke Cream +L HI}'L
/@' woral $_5.54 ﬂchvngs$ 4.46
Order these numbers from smallest to largest.
llor 113 110 131 311}101 110 113 131 301
89 118 198 181 108J108 118 181 189 198
21 112 120 123 127)112 120 121 123 127

NN
I
]
B
o
NN
—

l401 104 114 410 411]104

FRaund to the nearest THOUSAND: 2000
33

- - Lrges
78 768 867 786 687|678 687 68 786 867
34

one less one more ten less ®en maore
100, 101,102 91,101,111
236, 237,238 227,237,247
311,312,313 302,312,322

How much money Is this?

$7.32 §$3.03 §3.23

Gallare  cents dollars  cents dallars  cents wallars

Complete these Fact Family houses.

(=}
&
[+5)

8.5 -38||2+5 -2||62 -3 |[E:12
48-8 =6 ||42-7 =6 |p4-6 =9 ||Z2-6
486 =8 ||42-6 =7 | p4+-9 =86 ||Z2+12

100 less 100 more

_1.,101, 201
137,237, 337
212,312, 412

$10. 66  $3.33

cant dollars  cents

4

=22|[6x11=66
72| |11, 6 =66
-T7||66+T1=6

Fill in the blanks of these multiplication circles so that the outer circle is the

PRODUCT of the middle circle and the innermost circle.

Date

Draw lines to match each picture in the top row with the correct tool in the
bottomn row. Each tool has two matches.

1 foot = 12 inches

1 yard = 3 feet
Convert these US Customary units of length.
3 feet Tyard= 36 inches
6 feet 12inches=_1__ foat
g feet=3_yards 15 feet = 180 inches
4feet= A8 inches 15feet=_5 yards

36 inches=_3 fest
36inches=_1 yard
12 feet=_ 4 yards

2yards=_/2_inches

1yard=

2yards =

Which unit of measurement should we use? Cirde the correct unit.

v

oeereeslaomos nChes IE| bons l:er".irr‘eters INChes cenbimelersg maes
-
e

gegreesyvards maes

1an:

pounos




Fill in each square with factors such that the product of each set of factors, Date
horizentally and vertically, are correct,

6150 6|4 |4 6|9 |4 6|5 |
716 |2 614 |4 3] 8|4 7109 I63
42 30 36 16 18 72 42 45
6 36 6 48 6|4 6

6 8
519 s 1) 7 617 8| 9|n
0 5 % 56

What length are the following items? Use Inches and write the units.

B
o

2 1 1 3 3

N ~,
\‘“"- -~ _}\‘.a” b 2 // ;‘
> - M /
TN — \ ~
-~ o O s /
il - \ A i
\ / /
) &\ P8 s 6
B
E
2 5
How many chocolate candies? Read each number aloud, N\ - 1 E
Inches fEety inchad E: &.ns miles pounds|
alal2]o -
i |
1o 10 .
fiet yards miles
"
o 2(7(3]6
) en B B B e =T
Ae ¥ ) 200 % W0 W0 - W0 06 a0 ®
. ="l =T . e e Se ) 0 10 B8
Wnd‘} Bl - - - - - - ee s klometers
T

Date

How much juice is In each measuring container? (oz is the abbreviation for
ounces)

Use these broken pieces of rulers to find the length of each block.

length _1 3/4 inches tength _1 9/16 inches

_ o L- ) “ = | : 1 -“' e - ] ]
500 m 300 m 1000c
length_21/4 _inches length __7/8 Inch

lUse a ruler to measure these line segments in customary and metric units.

Graph the amounts of |uice above in the columns below.
Is this hard? Why?

L T ‘Yo don't really have o %ra h the amaunts.
| pust wanted you {o think about WHY it &5
difficult ta graph amounts in different unes

e - i e .
& 2em Tmm . T af measurement on the same grap
e |
—— —ldem Convert these US Custemary Units.
1gallon=_4 quars Teup=_8 ourices
Fill in each square with factors such that the product of each set of factors, - 4 - 24
1 quart = cups Fcups= ounces

horizontally and vertically, are correct,

1 gallon=_16 1 =32
4 5 o 4 3 ia 4 0 |36 4 8 o gallon cups quart oUnces

2 gallons = 32 cups 128 aunces=_ 1 gallan
7 6 42 6 2 12 3 8 % 5 9 A 20 cups = 5 quarts Zounces=_1 Tablespoon
2 30 24 6 12 72 20 72 |

18cups=_1 gallon int 1 gallon4 cups=_5 quarts

4106 |a 4111 Jaa 417 |= 41 8 i § ’ © . °
— 6 cups = quar‘t_1_ pint 16 aunces = _ 2 cups
518 |4 &1 7 |56 416 |4 91 2s 2gallons=_8  quarts 16 Tablespacns = 32 sunces
20 48 27 16 42 3616 40 ounces = quart_1_cup 52 cups=_3 _gallons _ 1 quart

39 40




Write the correct comparison symbal (<, =, =) between each set of capacity
measurements. Remember the shark always wants to eat the LARGER amount.

BofE &

iy B

[T-L0 -

oF 2ok

Circle the best estimate of the capacity of each item.

l\-_.

Convert these US Customary length units.

14feet=iyardsteet
15inches = _1

29 fest =_9 yards 2 feet
Sfeet=_1 vard _24 inches

foot 3 inches

Convert these metric length units.

1mile= _5280 feet
20feet=_6 vyards_2 feet

3Sinches=_2 feet 11

inches

afeet=_1 vyard 12 inches

Date

Which units of weight should we use? Circle the correct unit.

QUNCES E: azl Lo0s

aunces iE:EEa tons

Find the weight of each item.

70ecm=/00mm 10mm=_1 cm 59 m=5900cm

90mm=_9 m 40mm=_4 m 800 mm=_80 cm

1000cm=10 _m S00cm=_5 m 61m=6100cm

1000mm=_1 m 10 m =1000cm 9000 mm =90 0cm Owz00g 1 woog 0 keanoe
41

1 pound {lb) = 16 ounces (oz) llogram = grams
( 1 ton = 2000 |b l 1g=1000 mg Date
Convert US Customary welght Cornvert metric weight units, Use a red crayon to show the freezing  Normel Body Teme. Balng Polnt Freezing Point
point and the boiling point of water as Tt 3o
1b=_16 oz Tkg=1000¢g well as normal body temperature. These .
_ were given in today's video. Write the

2lbs=_32 oz 20k 20000g termnperatures in both scales on the lines

1ton =2000lbs 3500 g = 3 ke500g below the thermometers.

3Boz=_2 Ib_3 oz ag00mg=_4 ¢

s0oz=_4 lIb_2 oz

5100g=_5H kglOOg

Measurement word problems. Draw a picture then write a number sentence

to solve the problem.

Awood board is 4 feet long, We
need to cut it into 6 equal pieces,
How long will each piece be?

4dfeet=_48 inches
48 + 6 =_8

Tumpeat b

i .E.-'i\’ﬁ

You have one quart of orange juice,
If you pour an equal amount into 4
glasses, how many ounces will each
glass hold?

1quart=_ 37 ounces

Your water bottle holds 9 liters. It's
half full. how much water do you
have?

91=9000mL
9000 2 =5000

el : T

You gathered eggs from your
chickens. The biggest egg is 54
grams and the smallest eggs 37
Erams. Heow much bigger isthe

iggest egg? \

17 grams

You got up at 8:10, which is 40
minutes later than usual, What time
do you usually get up?

7:30

You started math at 9:15 am and It
took you 45 minutes to complete.
Then you read a book for 30
minutes and studied science for 20
minutes. What time did you finish?

10:50

43

Marmal body temperature: 37/ “
Freezing point of water: __() i
Boiling point of water: lOO'

Color pieces of each bottom shape so it matches the top shape, Then write each
equivalent fractions number sentence.

Write each temperature using both degrees fahrenheit and celsius. Circle any
Temperatures you recognize as important.

F_T F_T F_T ¥ T ¥ T FT ¥ T ¥ T
w | w | w | w | % w % w | w /|l ® wl®
o o £l o 5 =5 o sy ? s =0
S| |49 ARE ARG ARERE S E L
E R | |5 & o |"EEe | [“EfEn | |™E|Ee | |%Efiw | [%E Ex
e | Pl A5 S o NS S | ] e | Pl | P o TH]
L] e LR ] L S L N L] e nElsy nElsy
L] Ee = e 0 125 i o) L] Ee 1=l 15 En
L L ] £ e L e L A5 fn E BE ]
i | S i | S 2 P H & P H i | S i B r B




Draw lines to partition each bar into the number spedified by the
denominator and shade each bar to match the numerator of the fraction in
front of it. Then draw lines to match the equivalent fractions in both of the
columns. Your partitions don't have to be perfect!

2 2

3 5

1 3

2 4

6 4

8 6

2 2

2 4

4 1

10 1

Find the products. What is the significance of the colored problems?

8x5=40 7x7=49 6x12=/2 4%x2=8

8x12=96 7x11=// 6x11=006 4x6=24

8x6=48 7x8=hH6 6x8=48 4x4=16

8x3=24 7x9=063 6x4=24 4x11=44

8x11=88 7x3=21 6x2=12 4x1=4

8x7=06 28 6x7=42 4x3=12

8x1=_8 7x2=14 6x10=00 4x8=32

8x9=_72 7x12=84 6x5=_30 4x5=20

gx2=16 7x6=42 6x1=_06 4x10=40

gx10=80 7x1=_ 6x3=18 4x12=48

8x8=04 7x5=35H 6x9=H4 28

8x4=32 7x10=/0 6x6=36 4x9=306
45

Date

Draw lines to match each data set to the best type of graph.

FICTOGRAPH WENN DIAGRAM LINE GRAF‘H BAR GRAPH PIE CHART
» % . Uy Comen Pt i >
d:3 3. , :
tEE T | I L )
Aty af bar graph, “isual orgal n-'e’bf Repregeefs continuous len?swisdalaasa

pletographs e pictorlal  overlpping cirdes T, ing Ires to
representations of data gﬁﬂo\’s the elaldcnshu nect indiidual data
na =t i

g Images, care, o
things:

Graph wur Graph the ha|r

.y

circle #e sices of
shayfthe size of me dala
rejéihee ta each cbes

Use p|cturesto Yourfamﬂylsone ~Cpmpare the

growth over the colors of represent your — whole group. siniscities and
ear. ne in yaur fr|ends favorite  Graph your family  differences of
nmg borhood. members favorite  dogs and cats.
ice crearm flavors
as a percentage of
the whole,
Fill in the missing numbers.
99 [100 [L01 (102|103 | 104105

Find the missing member of each FACT FAMILY.

() 30

DE) O OO GC

D @

©

414

43(/) (1) (B) (L)
46

How long is this sewing needle?

2 T4 4 0 e L
Hoin
Use a ruler to measure each item in Customary and Metric units.

HE t
=7 — - m e e

__—\/_/B_Cmi_in
_lcm_ziin
jz_cm_/liin

How many chocolate candies? Read each number aloud.

: 61114(3
1000 & 1000 1000 1000 1000 1000 o turdrade] o A
: 100
1]
Wl S e e OO
1191410
1000 toueangel el tens | o
400 400 400 400 100 100 100 © 100 100
" 0 W W W
e L W)

Convert these length units.

16ft=_D yd_1 ft 12 km =12000m 3em=_30 mm
14in=_1 f_2 in 3000mm=_3 m 900 mm =90 cm
25fti=_8 yd_1 f 2m=200cm 6 m =6000mm
1mi=_H280 ft 37 m=3700cm 100 mm =l_0_£;r;

Date

Build a FREQUENCYTABLE and then a PICI'OGRAPH

ﬁ.‘

r"qr
>
4

oy Fo

Find products.
4x3=12
4x7=28
4x4=16
4x 11 =44
4x2=8
4x12=48
4x8=32
4x5=20
4x10=40
4x1=4
4x6=24

4x9=36
48

b3 two cookies,

] ()

KEY
Each circle represents
chocolate | 4o heart
chip
Find guotients.
6x2=12 36+4=9
6x1=86_ 24+4=6_
Gef o el
- 44+ 4 =
6x12=/2 ) -
6x7=42 20+4=3
6x10=(0 32¢4=8
6x9=54 1204=_L
6x11=66 48+4=12
6x3=18 28+4=_]
6x5=30 8+4=_7
6x6=30 40+4 =10




one less  one more ten less ten more
18,19, 20 45,55, 65
71,72, 173 19,29 39

100 less 100 more

i 3

1,101,201
144, 244,344

Color pleces of each bottom shape so it matches the top shape. Then write
each equivalent fractions number sentence.

Draw the correct comparison symbaol (<, >, =) between each set of fractions
below. Use your FRACTION BARS or FRACTION CIRCLES to help.

2.3 2
274
2 _ 4
3 6
Convert these capacity units,

1c=_8 oz

'8>
5
—6>

2
9

5
8

1Tbsp= 3 tsp

1

~~ ow

3
1
1

Date

The superherces had a race. The graph below shows how many miles each
superhero ran in one hour. How many miles did each superhero run?

The Fastest Superheroes oncerTonen

18 mi.
Iron Man

14 mi.
Spiderman

19 mi.

Number of Miles Run

Wandar
Waman

[!apli!n Black Iron Man Spidarman
A

‘Wildmw

Superheroes

Which superhero ran the most miles? __Captain America
[ron Man

Who ran the least?

How many MORE miles did Spiderman run than Iron Man? 5 mj

How many miles did all of the superheroes run together? _9 ni.
How many MORE miles did Captain America run than Spiderman? _4 [T i

9qt =2 gal 2 pt .
1q=_4 ¢ 1gal=_8 pt 1602- 2 ¢ Find the sums.
= - 7=
1qt=_32 oz 1gal=_4_qt 10pt=_1 gal_4 ¢ 1+2 3 4+5 _9 8+ _15
16c= gal 9tsp=_3_ Thsp 16Thsp=_12 oz 10+20= 30 40+50= 90 80+70= 150
Zez=_4 Thsp 1c=16 Thsp 20Tbsp=_1_c¢_2 oz 100+ 200=300 400+500=900 800+ 700=1500
49 50
= — Date
Boxl= 1 é g Pxl1= 9|19 Lizzy took the temperature at 10:00 am every day last week in Plano, TX,
13x10= Mx10= o19fo Plano, TX Temperature in October
15x 100 = 1§50 Q40 99 x 100 = olollo aol |
15x 1000 =1 J{ 5§ O}jO §O 99 x 1000 = ofoflo 85
Color the coins needed to buy the football. 80
7 75

B

How many stars are in each group?
Whatis & of 207 5

Divide these oranges Into 3 groups.

XX AR A AR

9PN

e 1
What Is 3 of 242 g

What Is 1__". of 407 g

70

65 I“,(“E £
4 gatd ¥yus?
60 e T
or C

55
50

Temperature in degrees Fahrenheit

5 6 7 8 9 10 11 12 13
QOctober Date

What is our temperature scale?_Farenheit

Why do our temps start at 50 degrees and end at 90 degrees?|t’s October,
temperatures are likely between 50 and 90 degrees

What was the temperature October 97 How did you estimate? _81-82
Which date was the coldest? 1 Warmest? __ D

Which date had the largest temperature drop? 10

Why did | use a LINE GRAPH to portray temperature?Data is continuous.

Why does the graph specify the time of the temperature taken?
Temperatures vary throughout the day.

51

Does temperature change throughout the day? Yes.

Midnight.

Is it colder at noon or midnight?
52




Find the sums with regrouping.
i

4 J-- 1 1
14 2 5] 17 20
Hl +18 +29 +34 +13
207 uhb 8 ol &1

Put these numbers in order from smallest to largest.

15 81 18 115 51|15 18 51 81 115
017 719 179 971 791

smallest largest

719 791 917

=mallest Torgest

11x12=3
Oxe6-=72

Fill in the missing parts of each number sentence.
7x8 =0 4x[-=28
Ex3=12 12x9=[0

7x 7 =3 gx[=72 6x9=Ea
ax@-32 4x12 =[] 5x[=25
ox4=[] Clxs-=40 8x6- [
3xBl=27 12x 8=[0 6 x[@=24
7x3= 1 dxo-63 4x5=E]

Add the fractions and color the sections of the empty circle to find the SUM.

T8 RN D00

t +&=-=i| ¢+ &=5=]

0-B-EFI®

§ + ¢ =p5=1| 2 + £=5=1| 3 + F=7=1

BX-F

g+ b =5=1] ¢+ f=-5=1] %+ %=-5=1

Date
Each WHOLE day is 24 hours. This is how Lizzy spent her day today.

How did she spend most of her time?

Practicing
1% Sleeping
Playing .
119 Slea?lng How did she spend least of her time?
9% .
Reading.
Learning On which two activities did she spend an
24% equal amount of time?
Eating _ Practicing and Playing.
Reading ' Why do all of the activities add up to 100%?
6% In a pie chart, it has to add up to 100%

What does YOUR daily schedule look like? Color the pie chart below. It has 24
sections, 1 section per hour, Label your sections with This pie chart has 24 sections
fractions, not percentages. So if you sleep for 8 V/"'"""

hours, 8 sections would be sleeping and the fractio
would be 8/24. Then write some guestions below

for your mom or dad to answer. pxi\{

Multiply the number by each of the numbers in the center circle. Write the

products in the outer circle,

One tenth means one whole divided into ten parts. We can
write “divided by" as 1+10 or as 1 oras 1/10. They all mean
the same thing. (i}

Per also means “divided by". Cent means one hundred. Per
cent means “divided by one hundred®.

19% = 5
27% = {4 68% = £ 56% = 1)

B%=ﬁ% M%:ﬁb n%zﬁ%

Draw lines to divide each set into equal halves. I there Is a leftover, circle it in
red, then use a vertical line to cut it In half. Split those halves between each

yE
15%—]'m;1._.

Find the missing member of each FACT FAMILY.

() 24 (1) 12
15 (9) 27 (°) 6

Date

Add the multiples of 3 and 4 to the correct cirdes. Cross out each number as
you use it. Which numbers do both groups share?

Multiples of 3
3 6 9 12
15 18 21 24
27 30 33 36

Multiples of 4
4 8

Multiples of 3
3 6

16
20 a4 28 Multiples of 4
32 4 8 12 16

40

20 24 28 32
36 40 44 48

Draw lines to divide each set into equal halves. If there Is a leftover, cirde itin
red, then use a vertical line to cut it In half. Split the HALVES between the two
groups. How many are in each group?

.'}'+ 6+2=273 5+2=21/2

Draw lines to divide each set into equal FOURTHS. Each fourth is one group. If
there is a leftover, circle it in red, then use two lines to cut it into FOURTHS.
Split the leftover FOURTH between the groups. How many are in each group?

DD
2000

12+4= 3




Use this chart to fill out both of the Venn Diagrams below with traits the kids
in the chart have in common.

name J swims J hikes J bikes
[ Elsa X X
Caleb X
Mae * X *
Lizzy | * X

Henry] X
Eon *

Brandy X X X
Claire X

Jen * X X,
Natali | X X

Lew X

Mat X, X
Kate X X

Lily i

Each block has 100 squares. Fill in the blanks and color squares to show each
percentage.

ﬁ%%

Fill in each square with factors such that the product of each set of factors,
horizontally and vertically, are correct.

3[4]e 30 [B[s]k [3]c]s

Date

Complete the chart. Draw base ten blocks using a cube to represent each
thousand, a large square to represent each hundred, a long, skinny rectangle
torepresent each ten and and a small square to represent each one.

iord Form Base Ten Blocks
xpanded Fom
5 ]

Ore thousand four hundred ninetu-seven
+ + + 3

- e e 1T B
n’gﬁl%'o..:a'r: five hundred thirty-two .._ : |— —|=I I I
1000 + 500 + 30 +2 D LMJ L
g-:g?’gouaanr: six hundred - ] ] ) AL I | ) IIII E:::

' EREL

2000 + 600 + 7O+ 9 Thausards r—..mw.s Ters Dre:
3,018 P TR

Three thousand and eighteen

3000+10+8

i b red Lo fores

What numbers do these base ten blocks represent? Read each number

— fime | hours | minutes
= 300 2 O
— | “ 320
— Q=

- = g [me | howrs | minotes
pE 57 1105 55
o [12:00)
— 15 @ 12:10 10
3 _hourana 1 2 miutes _1 hourana _B_minutes

59

8 [12]0s 17 [0]s5]e  [2]id]e
24 48 9 63 30 40 36 66
57
Graph these pairs of shoes on the line plot using x's. Date
jid | Jumbers 6-10 fo
: oers® ' Figure out the SCALE of each number line, then fill in the missing numbers,
L 1 1 1 1 1 1 1 L L L 1 1 1 1 1 L I L
- X @ 6 [6] 6 Ede 02 » #[* 7 [
X
= XX X 'l 1 1 : 1 Il b :
X X EE[ElsENEENER
v XX XX XX
X 4 X XX XX et ——>
—t—t—t—+ EIE] > % [ o 6
(<]

TS SR
'

24

—l 1 | |

Color the number in each colored rectangle. Then draw an arrow that color
ointing to the number on the number line below. Some of these fractions
ave WO names.

mixed whaole mixed mixed whaole mixed
number number number fraction num number

r
Color 34 Calor 1}

BRERS |
Y FeeH

@
@
<,
&
@

1 2 4 5 i 2 i 32 4 5 1 3 4 5 1 2 4 5
0::iiii1iiii22tiiii3i¢iii14i::i::265

See how this number line has fractions divided into sixths. Why?
60




Color the shape on the RIGHT so it matches the shape on the LEFT. Then
write each equivalent fractions number sentence.

Each block has 100 squares, Fill in the blanks and color squares to show each
percentage.

Date
Figure out the SCALE of each number ling, then fill in the missing numbers,
L

ettt
800 900 1000 1100 [So [3og 1400 1500 1
]

30 4&05’50&%0 5%0?5’0

Each of the following numbers will be used once to answer a question below.
Cross the number out after you use it.

% 242 | 565 | 389 | 44

380 | 282 | 130 | 8€3 |1B01

1.This number has the same number of ones, tens and hundreds, _ 555

2.This number is the least. 110

3.This number has three ONES. 803

4.This number is one less than four hundred. _399

5.This number Is the maost. 1001

6.All of the digits in this number are EVEN. __ 282

7.This number has zero tens and zero ones, _300

8.This number has nine HUNDREDS. __ 955

9.This number has the same number of tens and cnes, but not hundreds.
744

10.This number has twice as many TENS as ONES. __ 742

Find the two numbers you are comparing on the number line. The number
FARTHEST to the right [s the LARGEST. Read each number sentence out loud.

141(>)114 103(<) 130 119(<)120 147(>)144
105(<)150 1213112 109(120 138(2)138
s SPPPROPRPIN SPPEN
1981 (> 1891 1619021916 200131999  2085(3)1852
1763()1673 1704(= 1704 1780(1870  2080(<)2090
62

Convert these length units. Convert these capacity units.

18ft=_6  yd 10qt=_2 gal_4 opt Date

5m=5000mm 2¢=_16 oz gl 2+3= 5 2000 + 3000 =

200mm=_20 om 18¢c = gal_2 ¢ 5000

Tmi=_5280 ft 4o0z=_182 Thsp 20+30=50 )

17feet=_5 yd_2 fi 2gal=_8 qt

Fill in each square with factors such that the product of each set of factors,
harizontally and vertically, are correct.

316]s 318 |4 31310 3 (126
419 |36 10] 3 |0 7111 5135
12 54 30 24 21 33 15 36

Divide each set into equal halves by drawing lines around groups. Split any
leftover in HALF between the two groups. How many are in each group?

3+2 = 4+2 =2

Divide each set into THIRDS by drawing lines around equal groups. Split any
leftover equally between the THREE groups, How many are in each group?

| - . 7] TR TR T

Divide each set into FOUR equal groups. Split any leftover items equally
between the FOUR groups. How ma i 7

-~ -
g iRty 2% el fe
e N

BN
gl ‘\_»: e e It

Find the sums,

7241 + 400 = 7641
1325+ 3= 1328
8134+ 20= 8154
2768 + 5000 = 7768
4092 + 400 = 4492 4
3610 + 1000 = 4610 &
5507 + 300 = 5807

Find the quotients.

Find the products.

3x9=_27 4x6=_24 12+4=_3
3x6=_138 4x12=48_ 21+3=_7_
3x8=_24 d4x1=_4 27+3=_9
3x5=_15 4x5=_20 36+4=_9
3x7=_21 4x11 =44 12+3=_4
3x3=_¢ 4x4=_16 32+4=_8
3x11=33 4x7=_2 24+4= 6
3x10=30__ d4x1=_4_ 15+3=_5_
3xd= 12 4%3= 12 28+4=_7
3x12=36__ 4x8=_32 24+3=_§8
3x2=_6_ 4x9=_36 48+4 =12
3x1=_3 4x10= 40 36+3=_12
64




wWord Form Expanded  |standard Which number is the largest?
Eight hundred fifty-three 1400

One thousand ninety-six Which number is the

Two hundred eighty-seven [200 +80+7 | 287 | smallest?

Mine hundred forty 900 + 40 940 119

Cne hundred nineteen 100+10+9 119 .

FThree hundred threa 300+3 303 "(aj'\:g&cslg number has all even
Five hundred sixty-eight ~ [500+60+5 | 568 s

Six hundred fifty-two 600+50+2 | 652

Four hundred forty-four 400+40+4 | 444 ";\:gcz';p;?nt;esg has zero tens
One thousand four hundred) 1000 + 400 | 1400 1400

Draw lines to match each angle with its name.

stralght

obtuse acute

right

Use these broken pieces of rulers to find the length of each item.

Date

Find the sums,

—lll— i o I
99 11657 32017
9 56 1712

+1531 +#_. 3 +H2241

1161312 1 71419] | 7111619

Use the templates at the right to  [7] ] m ] T
figure out these SUMS. = o 5h s1zlsls
1012 + 453 + 901 = 2366 SCE 3lof1fo 1l1le
514 +3010+25=_3549 4+ 9011 +H 215 H 714
2385+ 119+ 74=_25/8 |23 6|6 13]5]4]9) 2]5]7]]

Use the tens and ones charts to find the differences.

o NO =]

%
411
8

_46

Complete these Fact Family houses,

W{@ jﬁ w3

] 1
Lolsus |

Ia 3cm
Use a ruler to measure these line segments in customary and metric units, L 32 T83
! 9 4L =63
R R
30N, JemSmm G547 =9
65
Add the fractions to find the SUM. Color the sections of the empty circle. Date
Write the missing numbers to complete each equation.
013 202 3 3q| 12
+10 070 23 +5E1  +Opé
637 375 868 992 364
M20 [15 353 25 sg7
+2[]4 +10 +] +4 41
94 4118 76 69 87
g 1 1 1 1
2 gi7 75 EEP iH7
+208 +183 +7 +4[13 {140
551 500 719 771 912
515 e 728 ] 325
#09  +234  +[ZQ  +432
917 655 868 595 479
155 (g 456 1 289
$5. 7 +246 /0 +268 77
R 553 644 832 855 564
1212 +300= 1512 5010+ 6 = 5016
Find the value of the base ten blocks.

5375+ 3000 =8375 1102+ 30 = 1132

4838+50= 4s@8 1018+200 = 1218
2128 +500 = 2628 768 + 4000 = 4768
4059 +20 = 4079 1249+ 400 = 1649
6630 + 2000 = 8630 2410+ 1000 = 3410
3546 + 400 = 3946 1401+ 8= 1409

e s

b
[Ssaanauns

T

(52}

68




Plot each number on the number ling, then round to the nearest TEM:

25 3p Fourorless? Legitrest.
Five: 0r¥ore? LETTT soar.

42 40 56 _60

Qlidfiifiipiathebriioiaansaraduitncd fRaiacnadfaauuon S8 08 Sg)

Round to the nearest HUNDRED:

Date

Decompose numbers into j

smaller parts that are Example: + =7

easier to add and subtract. \{23)‘ 41'5\ *
(20+3)+(40+5)=7?

then regroup the numbers; tens together and ones together
(20 +40) + (3 + 5) =68

Use mental math to find f  andprestl '& »

Bs0 125 luu. 4?5 '5:,:, 551600 the sum of each problem, iy o e
@:-‘-.lg oy 399 400 333 300 549500 Problem Decompose Rearrange sum
@87 605 600 590 600 228200 31+44 ) (00
‘ ' L, : ‘ . 25+34 i ) ( ; )+( &
gf R RAEERREpESEE A af o’ ot g i ] . R - .
+ )N )+ (5
Round to the nearest THOUSAND: 0012 N )+
g s st assnd’ Cics R THOUSRNDS pk I — 5+ 41 it
(05 382_0 2939 3000 213_0 )\ )+
Q19 998 1o0o 2530 s000 28123000 22 +60 )|( 2050 )+(
fng2 1550 2000 1344 1000 1827 2000 43 + 54 (40 +50) 4
] ] 1 17 +52 10+7) + (50+2) (10+50) + (7+2) 69
e - 1 61+ 38 (60+1) + (30+8) (60+30) + (1+8) 99
Use a ruler to measure these line segments in customary and metric units. 35+23 (30+5) + (20+3) (30+20) + (5+3) 58
T Ze 83 +15 (80+3) + (10+85) (BO+10) + (3+5) 98
When you have too many ones, regroup them into TENS apd ones.
L 56+38 [(50+ &) +(o0 + 0)| (o )+ (o)
4 _|n 10cm 1 mir 47 + 36 : ( )+ ‘C:JLP-ZJ
370N, eem Smer 35+ 29 (30+20) + (5%0) +10+4| 64
69 70
Write the missing numbers to complete each equation. Date

uklz 2[4 915

~NE
IN=
w3

13[4 0 .om -
776 318 975 343
312 217
LT3 4102 <03 +310 0
624 216 346 672 537
1 1 11
343 3 567 179
+JL),’ +186 + E)'C +238 [ f'fa
740 307 533 627 553

Each animal represents a missing number. What number does each animal
represent?

@+@+@+@+@ =30
@ xm =30

Q+ BB _,_'Cﬁ_,_(‘é 34
% o+ 2= 24
o =27

S+0+0+0+F+m + 5=

Could we have used different animal to represent each number? Let's use
LETTERS to represent numbers. What number does each letter represent?

=12 14-3= X=.
XK+ =7 =
+Y=12

W+ + =

71

You are a library volunteer and they need -
picture books | 117

¥our help to organize the children's section.
ou counted the number of books they have

in each category. chapter books | 248

early readers 28

board books a5

biographies 27
nonfiction 175

How mary more board books are
there than biographies?

- whole whol
27 +_ 8 =_35 2 3 “
T T wheE - 53 + 35 = B8
part . part -
coy 3 24

How many fewer board books does
the library have than early readers?

number of w8
biogrephies

rumber af numher of

baard hoaks early readers
We want to shelve the biographies || Three boxes, each with 12 picture
and nonfiction books together. How | books were delivered. How many
many are there altogether? plcture books do we have now?

pumber of wihale — whle
biographies picture back:
27 + 175 =_202 part . 153
part 2 202 17 + 36 = 153
175 —
rumher of oo new picture ~SE S
ronfction boaks

How many books does our children's section contain altogether (include the
new picture books). Draw a picture and write a number sentence.

726




* represents the missing addends. What does x represent?

10-X=3 X=_7_ X+3=7 X=.4
5+X=7 X=_2_ 10-X=4 X=_5_
9:=X=8§ X=_ 4. X+8=10 X=_5

The clocks in the second column show the current time. Draw hands on the clocks
inthe other columns to show quarter before the current time, then quarter after
and half past, Rememiber that the MINUTE hand moves around the entire circle
while the HOUR hand Just moves across It's HOME.

Quarter Before Current Time  Quarter After Half Past

Whiat comes next?

Divide these pomegranates nto 3 groups.

How many pomegranates are in each group?

OW many oranges are in each group? !
Whatis zof6? 2

Whatls 2 of 147 7

Dibyide ¢ hese aperries into 7 g6 Divide these dats Into 3 groue

Finlsh the patterr:
380, 385, 390, 395 , _400 , 405 4]
393; 396, 399, 402 y _AD5 ., 408 4 411 4 _ 414 4 _ 417

' 415 420

Identify and label all of the parts, then complete the number sentences.

8 I 8 f 8
I | (] | [T
8=_4 +_4 8=_3 +_5 8=_1 +_7_
B=_4 4+ 4 8=_5 4+_3 8=_7 + 1
4 f 9 f 9 |
I f I T ]
=3+ 6 =ho b 9= +_8
=1¥2 9=6+3 =_DF & W= mF A

450,460, 470, 480 , 490 , 500, 510 , 520 , 530 , 540 What Is the Commutative Property of Addition?
112,109,106, 103, 100, o7, 94, 01, 88 , 85 Changing the order of addends does not change the sum
73 74
Data
Divide these marbles into 4 groups. Division: Truths;

—
Color % ofrhe marbles yellow an E ;

3 of the marbles red. Color g green and £ blue.

Divide theseumarbles into 6 groups.

Coter=Ted and 2 blue. LeavE

rest whlte How 2 [e?

Use your FRACTION CIRCLES to compare these fractions by drawing the
correct compariscn symbal (<, =, =) between them.

1.3 2
257

win wlnm

2
5
4
o

Ot;lm BN

8
3 4 5
6 8 6

Complete these Fact Family houses,

; A
uotient 5
2=2||8+4=2 [ 475 {[avisor diidend | Division by ONE s TSELF.

Multiplication by one is itself,

Use circles to group the items, then complete the equsations.
2—;' =8 24+3=s 3J24 Whatis1/30f24?
20 ‘. 5 8
b ¥ - 5 25:5=5 525 Whatis1/50f 257
Whatis 1/3 of 127

4

AN
% \!‘ 'y (.

What Is 4/6 of 187 12
What Is 5/6 of 187 15
What Is 6/6 of 187 18

What is 1/6 of 127 2
What is 2/6 of 127
Y Whatls3/6of127 &

What is4/60f 127 8
What is 5/6 of 12%10
What Is 6/6 of 12712

P

hat s 1/6 of 247 4
hat is 2/6 of 247 4
hat Is 3/6 of 247 -

What Is 4/6 of 247 16
What is 5/6 of 24? 20
What is 6/6 of 247 24




Draw lines to match each fraction to its meaning.

f\ —

indeterminate—

—0
0
1

Put these numbers in order from smallest to largest.

[512 521 502 215 520(215 502 512 520 521

malest st

697 796 976 679 967|679 697 796 967 976

malet Tt

Find the value of the base ten blocks.

Date

Exponents:

=1 2=2x2x2=_8
3=_1 3=3x3x3=_27
4= 1 4=4x4x4= 64
5= _1_ 5=5x5x5=125
2= 2 2'=2x2%x2x2= 16
3=_3 3'=3x3x3x3=_81
4'= 4 4=4x4x4x4=255
5'=697 5=5x5x%x5x5= 625
2=2x%x2=_4 2°=2x%2x2x2x2=_32
F=3x3=_9_ 3*=3x3x3x3x3=243
4=4x4=16 4=4x4x4x4x4=1024
5=5x5=25 5=5x5x5x5x5=3125

Multiply the number by each of the numbers in the center circle. Write the
products in the outer Circle,

3 0] 6 8 2 5 1 O
77
2 less 2 more 20 less 20 more 200 less 200 more Date
b, 87, 12, 145, Eh JHE, 397, 5 Find the positive square roots. Find the roots.
114,116,118 332,352,372  201.401,601 ViG-4 B-5 Bd-4
700 702, 704 844, 864, 884 410,610,810 o o

Color the coins needed to buy each item.

Find the missing member of each FACT FAMILY.

(") 25 20 0]
GOGOBDOOOD
56 (/7 283
87&89&86

V8l=a 1 =1 V8 =2
V36=6 4 =2 Vis=5_
Ved=28 A9=7_ V27-3

Use a calculator to find the following exponential numbers and positive roots.

F=_3 5= 125 V8l =9 V216=-6
g'= 512 7= 343 V16=2_ V32 =2
4= 256 3'=_81 V26=4 V8l =2
3= 243 2= 256 V243-3_ V1 -1

Add the fractions to find the SUM. Color the sections of the empty dircle.




= 1 =1 Date

2=2_ 3=3 Read and write each time in 12-hour and 24-hour time formats.

2=2x2=4_ F=3x3=9_

P=2x2x%x2=8 3=3x3x3=27

2=2x2x2x2=16 F=3x3x3x3=81

P=2x2x2x2x2=32 F=3x3x3x3x3=243

273xl= 22 f4x 1= all4 12-hour: 3 P.M 12-hour: /:15 A 12-hour:_9D:35 P,

23x10= 20300 84 x 10 = 8l 4l0 24-hour: 15:00 24-hour _1Q:15 24-hour: 17:35

23x 100 = 2838000 84 x 100 = 848 0)10 K/”r -

23 x 1000 = 2013808000 84 x 1000 = Ao ollo Convert eachtimelfrmm 12-hour format to 24-hour format. \. imes
125AM=_1:2b 1213pM=_12:13
s05PM=_17:05 sigaMm=_ 518

Draw lines to connect each column, 339pM=_1H'39 1120pM=_23:20

Convert each time from 24-hour format to 12-hour format. Include A M or P.M.
2015=8:15 PM 0112=1:12 AM 11:01=11:01 AM
0404 =4-04 AM 09:55=9:58 AN 2301 =11:01 PN
1937=7:37 PN/ 1330=1:30 PN/ 1515=3:15 PN/

The girls board the train at 17:45. Their trip will take 4 hours 8 minutes. What
time will they arrive (in 24-hour time)? Draw the hands on the clocks.

departure arrival time hours minutes

17:45 4
21:45 8
21:53

82

Date

Use your calendar to answer the following questions:

1.How many days are ther: n Valentine's Day and St. Patrick's Day?

2. You are going on vacation in ten at will be the date?

olor 7 of the marble : 3. Your piano teacher gave you a new song t#3f/ She wants you to learn and memorize it

Divide the

for your recital May 15. How many days do you have? ¥4 r’]‘_\y

Draw lines to match each month to the number of days it has.

) October April
A e v v . ..v
Color ¢ orange and £ blue. Whatis Lof 547 February 30 day. August
July Movemnber
January Lo March
Use circles to group the items, then complete the equations. TR, 1d ptember
wmo E:5 20+4=5 4]20 Whatis1/4 of 207 June
P ¢ -\ 3’:- 5
‘:3&‘;(;1'5_ = 36_9 36+4=0 4)36 Whatis1/40f367 You started reading at 19:10. Your book took two hours and 15 minutes to
v - N finish. What time {24-hour time)did you finish?
i ini £ hours rrinuces
20000000000000 28 _ A= i begin finish il
20000009030000 =7 28+4=7 4)28 |\Whatis1/40f28? To10 15
19:25 5
21:25
Fill in each square to complete each number sentence correcthy.
20x050=0c21x4=1a8l111x421=
acdkdsubirad 3 inthe ONES place add/subtract 3 inthe TENS place addfsubiract 3 inthe HUNDREDS plac
X X X X X X X X 3 less 3 more 30 less 30 more 300 Iess 300 more
HE B EEHIEERBEHEERIEEE 3,153, 0 , 398, ¢

315 345,375 225, 525, 825

590 593, 596 609 639,669 109, 409, 709
84

X =86 X 120= 172 a4 X 61=




Find the sums and differences,

51 47 39 28 86
+ 13 + 24 +27 + 50 + 24
64 71 66 78 62
42 15 50 20 33
- 15 + 35 - 27 - 19 - 24
27 50 23 1 9
59 86 91 36 48
+ 29 -48 - 47 + 40 - 28
88 38 44 76 20

What number does each letter represent?

A+A+A=15 16 - < = [I7] A=[5]
A+ +0=18 25 - = =
2xB =14 A +14=[0

A+C+B+B=5] +9=[L0] =

Fill in each square with factors such that the product of each set of factors,
horizentally and vertically, are correct.

5171 216 |2 512 |w 519 [#s
S|3 s 315 s 407 s 813 e
520 6 30 0 14 w2
25 fw 518 |40 2] 50 516 po
Q1] 10] 6 |60 O 4] 217 e
18 55 500 48 18 20 10 42
218 |6 2 110}z 5111 |ss 219 ||s
617 7|4 s 1131 8| 11]ss
17 56 & 40 5 5 6 %
85

Date

You gave the cashier $2.00 to buy juice that cost
$1.33. What is your change? Color coins to count UP
from $1.33

5

) -

67

A $2.00 = 200¢
% $1.33=133¢
‘ou gave the cashier $5.00 to buy a sandwich that was @ e

$3.49. What Is your change? Color colns to count UP
from $3.49 to $5.00 .

.1 {/’; N
T W
151 ¢

$5.00 = 500
$3.49 = 340¢

—

D EHED

cashier $5.00 to buy a salad for $2.89.

$5.00 = 500¢
$2.89 = 3g0¢

What comes next?

108,99,90, 81, 72 , 63, 64, 45, 36, 27

45,50,55, 60 , 65, 70, 75 , 80,85, 90
16,24,32, 40, 48 , 56,64, /2 , 80, 88
84,77,70, 63 , 56,49, 42, 35, 28,21 ,14
%,64,6, 8 ,10,12 ,14,16,18 ,20, 22

Convert these time periods:
1year=_3065H days
1day= 24 hours
Thour=_B0 _ minutes

1 minute=_60 _seconds

7 days = week

90 seconds=_ ] minute 3() seconds
2Shours =_ 1 day_ 1 hour
9days=_1 week__ 2 days

30 minutes = _1& haour

12 months=__1 year

Complete the blanks in these circles.

18 | 14 60

(PTG fs <
RopIe:

8

Find the missing numbers to complete each eguation.

411 vans| 253 G20 562

+H233] +183 +[107] +131 H{d
644 599 354 752 568
1 1
115 B 545 i 139
25 +#387  +3g #1557 14
240 600 533 325 280
Find the value of X In each equation and write it in the box below, 11
343 X 367 X 179
+ X +186 + X +238 + X
740 301 533 627 53

¥Ead efid ched GEEd  x[Z

Date

Fill out this check to pay Toys R Us for a new toy. You decide the amount.

-? DOLLARS ﬂ
=z LifeSkills
12347659 : 003 23%

write the rest as a deposit on line. Then follow the instructions below
at least four times.

You earned $50 and you rec%% for your birthday. Save some then
st

1.Choose an item to buy.

2.Round the price of the item to th rest dollar,

3.Write the rounded price of the iterd-#she expense column.

4. Subtract the rounded amaount fro alance and write your new balance.

5.Repeat.
paposlt Expense Balance

4—

Memo




Divide these balls into 3 groups. Date

1.Trace line seﬁment AB orange.
2.Trace the obligue LINE red.
3.Trace the horizontal LINE green,
4. Trace the vertical LINE yellow.
5.Mame the two perpendicular line
segmenrs:
and_ C
6.Mame the two parallel line
segments:
RS and__QT

Draw; Fill in the boxes around this circle with
h g Indlyde 1 the correct angle measurements. Use
Right Angle smal square your reference pages if you need 1o,
e 1 vl 1 o
WhatlsTZDHS. o] WhaIIS-SUf1O. 2 ||
_— Acute Angle
Fill in the missing numbers then color the squares with EVEN numbers yeliow.
505 )2|1501 J1499 497 {
Dbtuse Angle
How long Is your game? How long is your flight? Yaur field trip starts at 2:10 PM.
twill take vou 3 hours and 15
£10 M minutes to drive there, What
W‘ LanPM time should you leave? S
o E———— [ Te | hours ] mores ]
5:25
Me ] _hours ] T [Tm= _|_hoors | Tnmaes 15
TG AM S0AM = 5:10 " i
45 50 510 . Draw a HORIZONTAL fine ™
12:00 9:00 3 and a VERTICAL line to Draw 3 HORIZONTAL
00 3 e a4 210 PM divide this square irto lines to 'dwld%ul:]g'l'-—is
3:00 58 1:00 . degariure S— EQLE square into .
= 1:30PM B
D minutes 80 minutes { Lise two OBLIQUE lines Draw 3 VERTICAL
#re there mare than 60 minutes? | Are there more than 60 minutes? to divide this square |_IﬂES 1w divide this
If o, TRADE 60 minutes for 1 hour, | i =0, TRADE 60 minutes far 1 hour Into FOLRTHS. EL LilJaRI'g'I_I'%EU
4 _hoursand 15 minutes D hoursand 20 minutes
[:]

]

Fill in each sguare with factors such that the product of each set of factors,

horizontally and vertically, are correct. Date

5] 918 1116 Jeo 818 [6+ Color the shapes on the right that are congruent to the shape on the left
314 | 715 I 1119 |se 6 112 |2

15 32 R 121 54 48 96 l:

12] 3 | 712 s 69 | 92| ) @mm--@
2] 8 oo 714 |= 816 fss 8 J11 Jos

144 14 49 48 45 54 72 22 0

10] 2 |20 T8 |+ 816 |% 12111=

= = =

516 Juo 1] 6 Jos 12] 3 Jse 110 Color the shapes on the right that are congruent to the shape on the left.
50012 [ % 18 84 55 Label each palygon with its name.

What comes next?

8,16,24, 32,40, 48, 56 .. 64, 72 , 80, 88, 96
T2 28 ¢ 38+ 425 49 5 B 635 70 5 7715 84

Color the number in each colored rectangle, Then draw an arrow that color
ﬁomtmg to the number on the number line below. Some of these fractions
ave two names.

mixed mixed whole fiactica whole mixed mixed
number number number number number
Color 3% Color 1g Color & Color ¢ Calar 1 Color 42

Complete the missing half of each shape across the red line of symmetry.

E_ESESESES

EEEE -

03sd538i148d0280245d420¢328702k00a08202845 RN
Why daoes this number line have fractions divided into eighths? e s s e s

w0
hac




Each block has 100 squares. Fill in the blanks and color squares to illustrate Date
each percentage eguation.

EE

width _ &
idth __5
I

£
el
length __7 = s
length 6 c
perimeter _24 _upis perimeter _ 24 ypits length _5
area_36 unigZ area _35 unis? perimeter _24 _units

area_35  ynits?

FiEt i . v{
Divide each SET inta the number of groups that is the DENOMINATOR of the =
fraction. For example, if the denominator is 2, divide the setinto 2 groups. =]
= length __ & z

B 8 x4 =32

k=] perimeter _ 24 _units

= area _16 unis? area_32_unis?
=¥
£
. =
S = length _16 =
perimeter _ 44  units 16 x 4 =64

area 121 ynis? perimeter _40Q unas

area_64 ynits?

Use a ruler to draw these line segments:

- . B BEr B GH MN & & ~0PQ
What is _11 of 247 6 i _ () T ou am hi 2RST
EF KL i bd ZEVG

What comes next? A C

12,24,36, 48, 60, 72, 84, 96,108,120, 132, 144
120, 115,110, 105, 100, 95, 90, 85, 80, 75, 70

0O Qf g E G S XIYK M
vb-_.d McAm eHa
T [

93 94
Date

w 4 I Canyou divide this shape into i

2 E W e S Do e peard

3 n > Outline and color them, o =

=+ =+

Sont 7 units 6 unit @
3 x4 -12 Lx 2 =2l 6 x4 - o
=" peflmeter_?ﬁ e = w_?(']_ length __6__ units length __3__ units
perimeter 14 units ares 21 umer Derlmzteir__ units T width __3__units width __2__unis
area 12 unis area_24  unis: b add these (Penmeter 15_ome oreter 10 o
: sef{area 18  units? area b units?

You gave the cashier $5.00 to buy a ball that was perimeter 24 units_add the
$3.21. What is your change? Color coins to count UP area _24 _ unis® because some of the perimeter lines overlap in the large shape

Could you have divided the shape into DIFFERENT rectangles?
Would you have gotten the same answer?

T
T
$5.00 =
$3.21 2 590 O
What number does A represent in each equation? N %H:FH:H?
8+A=13 A=_5_ A+4d=4 A= o N . I T
5+A=12 A= _5 18-A=9 A= g mEn N perimeter 48 _units
Q-A=6 A:_.:“._ A+5=16 A:_L'L - T area 86 unis?

perimeter _48  units
area 105 _unis?

perimeter __64  units
area 100 ynis?
Find the missing numbers to complete each equation.

h 1 ‘ 1 Finthrff missing lengths we called X and . 10 units
411 700 237 621 170 E v . : 5
Find the value of X in each equation and write it in the box below. 1 5 ? S ]
301 X 321 X 114 - '
+ X +113 + X #103  + X T v
502 283 389 227 350 T i N
s o B v I wees (RS e (R ) [ N e ot i

96




‘Word Form Expanded  |Standar: Fill in the missing spots.

Twa hundred twele N Which number is the largest?

Five hundred one +i 680
Six hundred eighty | 600 +80 Which number is the
smallest?

[Two hundrad thirty-two 200 +30+2
Jone hundred ninety 100 =
Three hundred fifty-six|
Five hundred twenty
Six hundrad

190

Which numbers have all even
digits?

680, 600

Which number has zero tens
and zero ones?

One hundred eigh

Four hundred forty-ning
) 600
Complete these Fact Family houses.
96
P2 8
1l2x8 =967 x8 =56 =12
B x12 =96| |8 xZ =356 =2
26+8 Tl2||a6+8 T L 8
26+12 =8 |16+ =8 =9
=42
=42
=6
=_7

Find the squares. Find the positive square roofs.

Date
Find the missing dimensions.
& units 12 units & units
a
5
a e a
£ £
5 5
'!1' length=_12 units r i
width=__4 __ units
perimeter = _32 _ units

> length=__6__ units

= @ area = 48 units” ) .
Ie.r;g;h_ —P ur.wlls width=_7__ units
WL It c— EQ'E | perimeter = _26 _ uriits
perimeter =_ H;-’. b units ) area =42 units®
area = 48 units 6 s

9 units

O urits

G units

7 units
S units

length=_6 _units

i = 9 i N
width — f?]'ts _ length=_9 _ urits
perimeter =_JU UM width=_9  units
area = 54 units®

length=_10_ urits
width=__7  units
perimeter =34 units
area = 70 units?

perimeter=_36_ units
area =81 units?

Draw rectangles with the following areas:

24 units? 36 units? 21 units?

= HI|
=1 WEsRy ) L8 iy

2= 4 6= 36 V16 =_2 V5 =5
3= o 7= _49 Vel =a_ V1=
4= 16 8= 624 V36-=s Vi =2
5= 25 9= 81 Vo4 =5 Va9=_1
97 58
Use mental math to find the sum of each problem. Add mentally. Date
Problem | Decompose Rearrange sum | 55+ 23 =78
43425 (0 (T B) |0+ 2 (5 0|5 | 47 421 =62 Draw lines to match each angle from the top row with its SUPPLEMENTAL

36+13 (02 )R (0 )0+ ) (0w 2
24+ 34 (20+4)+ (30 + 4) [(20+30) + (4 + 4) 21+ 28 =49
45+42  |(40+5)+(40+2) [(40+40)+(5+2) | 87 | 53+ 45 =08
51+28 [(50+1)+(20+8) |(50+20)+(1+8) |79 | 32 + 54 =36

16 +62 =75

Draw lines to match each angle to the most correct measure.

$o._ 7 $11

&2 .8a  $21.85 %203
dollars cents. dollars cents dolars cents dollars cents dallars cents.
Round each amount above to the nearest dollar.
$_2 S_u 5_z $_20
dollars dallars dolars dollars dollars

What comes next?

_12 ,_24 ,_36 ,48,60,72, _a4 96 , 108, 120 , 132 , 144

120, _110, 100, _90 ,_80 ,_70 ,_G0O , 50 ,_40 ,30,20,10
99

angle on the bottom row. The two angles should add up to 180 degrees.

Why can't you measure the length of a line?

Line segment: a beginning and end, but lines do not

100




Draw lines to match terms.

indeterminate 13
mixed number 5
]
0
undefine 3
whole numbe ElJ.
2

Use your FRACTION CIRCLES to compare these fractions by drawing the
correct comparison symbaol (<, >, =) between them.

Quadrilaterals (shapes with 4 sides) are special! Draw lines to match columns,

Has two pairs of parallel sides, right
angles and congruent sides. Also a
ectangle and a parallelogram.

Has two pairs parallel sides, and four
lght angles. Also a parallelogram.

lngram with four congruent sides,
hut it dols not have to have 4 right angles,

i1as 2 pairs of parallel sides,
opposite each other,

trapezol as one pair of parallel sides.

101

Date

Use your place value chart to fill in the blanks in this table,

word Form Expanded Form Eéagfard
Four thousand, one hundred fifty-seven | M.t iiienis
21,103
70,000+ 7,000 + 40 + 2
Eight thousand nineteen
35,900
40000+ 100+ 50+ 7
411,000
One million, eighty thousand five 1,000,000 + 80,000 +5
Twenty-five million, twenty-five + 25,000,025
TO0000+70+7 7000077

Your Tight leaves at 11:15. The fight will take 6 ours 30 minutes. What tme
will you arrive (in 24-hour time)? Draw the hands on the clocks.

departure arrival time hours minutes
IAHE
N .
/’.‘ ") e
— 15 hours

Convert each time from 12-hour format to 24-hour format,
1215 PM =
736 AM =
9:01 PM = _21:01

V107

107 AM=_o1:07 ‘o2

-
10:28 PM =__22:28 \

420 PM = 16:20

Convert each time from 24-hour format to 12-hour format. Include AM or P.M.
02:22 =__ 222 AN 11:02 = _11:02 AM 14:49=_ 2:49 P

07:56 = 19:23=_ 7x 20:09 = __8:C
2359 = 17:30= 0317 =
10:00 = 1331= 16:50 = _4:f

Write straight, right, acute, reflex or abtuse below each angle.

right angle acute angle straight angle obtuse angle _reflex angle

Draw a dot inside each angle. Count the numbers of angles in each shape.

N3O O O

angles _4  angles 5 angles 4 angles 0 angles

What comes next?

1, 4,9 16, 25 , 36 , 49 , 64 ,_&1 ,100 ,_ 121 ,_144

96 ,_B88 ,_80 ,_72 ,_ 64 56 ,_48 ,_40 32 ,24,16,8

103
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Fill in the missing numbers to complete the number line.

Is this a line, a line segment or a ray? Aline

How do you know? No endpoints

Draw an infinity sign to the right of the line and a negative infinity sign to the left.

What do the arrows on either end of a LINE mean? That the line continues.

Draw:

Ray Acute Angle Reflex Angle Line Segment

Obtuse Angle

Straight Angle Line Right Angle

—

Write each number, then name them out loud to a parent.

1. 10,000+ 6,000+ 700+ + 5=

4.10,000+ 3,000+ 700+20=___1
5.9,000,000 +4,000+10+1=_9004011
6. 1,000,000 + 700,000 + 50,000 + 2,000 + 50 =

6. 4,000,000 + 300,000 + 2,000 +900 + 1= __ 4
104




You gave the cashier $10.00 to buy blocks that cost
$9.45. What Is your change? Color coins to count UP
from $9.45to $10.00

$10.00 = 1000

$9.45 =945,
Convert these time periods:
lyear=_ 365  days 30hours=_1 day_6 hours
lday=_24 hours lddays =__ 2  weeks

1 hour =_&0  minutes 120 minutes=__2  hours

1 minute =__ 60 seconds 360 seconds=__6  minutes

Jdays=_ 1 week 6months=_1/2 year

The numbers in the rectangles are the PRODUCTS of the factors in the circles,

at the VERTICES of the triangle. Find the missing factors.

Date

IUse the number lines to solve each problem.

15+7 =22 12-8=_4_
o]zsnan:asnnuun!nvnsm%ﬁa 1123460 T68DNTBUDBIEBDAZAN
4x3=12 3Ix7=21

01z3a607TEBeNICRRNTIEENAzZaS

10-11=-1

DA SO,

0123400 /6 BNNEDUERTEBNARAN

6-9=_-3

Fatoate otta s

LUADD-B-T-E-E4 3210123456 72000

12-15=-3

ta¥ato' s n ata

LHAD-0-B-TE 5-4-3-24 01234567 &0

EIADE T4 6- 321012386067 880Nk

OO,
42N0-8-8THG-4-3-2101 2386078010012

3-10=-2

BHNDETEE4-321 01323456768 00UD

5-9=_-4

LHNDETES4-324 0123456768000

11-16=_-5

GNNEET6S4-321 012340678 BNLE

=0,
EEEREENEFEEENEEERFEEEEEFE

Do you notice any patterns in the subtraction problems above?

they're all negative because the minuend is less than the subtrahend

Use the number line from your lesson today to solve these story problems.

You have $20.00. You want to buy a $35 game,
How much maney do you nead Lo garm?

Y $15.00

AL noon the temperature was 25 degraes,
Cwvernight, the temperature dropped 37
degrees, What was the lowest temperatura?

106
When two angles add to 180°, we say they are SUPPLEMENTARY. Supplement Date
comes from Latin supplere, to complete or "supply" what is needed.
Use your newest number line to find the sum/difference of each problemn.
5-12 = -7 When two L-y’[[.'b(-J b..j:l.t-_' together in a number sentence:
Twic |J(I‘1|I'\'!-‘-\I ake a Ve,
7 + —g = —2 A positive and a ne e make a negative,
DFEJW Iineshtcbmarch each %ﬂgle from tli'le rc;_lp rc|>(\:n|v vgiéh its Sl_[lFéPDLEME NTAL 8--3=_11 Two negatives make a positive.
angle on the bottom row. The two angles should add up to egrees.

g p g -3-12=-15 -5-4=-9 9-14=-5
1+-4=-3 8--8=0 15-18=_-3
1--4=_5 -4--11=_7 6+3=_9
-1--4=_3 1-10=-9 6--3=_9

y \ Use a ruler to draw the following:
. 1.2 12W 230Kk 34
2¥Z  13WVR 2470 35
e : ﬂJ oy 3K 147 5§ 26T
n u n r 4TR 15T 0T 31T
508 16MO 27U 38T
| ’ bt " 6.FA 17.MN 28.EF 39.Gg
al 7BF 18 TP  29.EC 40
A 19.7 0.F0 M1 &
9.5T 20.H 31.mn 42,564
! E 1050  21.TW 3257 443
= z MK 22K 1363 453
107

Draw lines to match each quadrilateral to it's most specific name.

squére rhdmbus

trapezdid

rectangle arallelogram

Fill in the missing factors or products to complete each number sentence.

5x[2]=10 3x4 =[] 9 x[E]=72
Elx3=15 [Elxs5=30 8x7=[=]
2 x[2) 24 6 x 1= 48 ax[E=32

Find the value of the letter in each number sentence,

5xM=20 M= _.
Ax3=30 A=_o

5xT=40 T=_s&_
108

Bx6=236 B=_§;‘_
Yx7=49 Y=_1
7xS=42 S=_s




Find the perimeter and the area of each shape.

2 9 2
5 5 =
= i
S units
4units . -
4 x_ 4 =16 3units —

: 3 5 =_15 ime
perimeter 5 units 3 x_ 39 =_1o perimeter units

area_16  ynits?

perimeterAu.nits area 15 units?

area_15 unis?
—C

o

Find the missing dimensions, then divide each shape into two or three

rectangles Find the perimeter and the area of each small rectangle, then add

those areas to find the area of the WHOLE shape. All of the angles are
R GHT ANGLES.

3 units 2 units 2 units 7 units
g 2
= [
o~
2 uaits, =
o
5 2 units ]
I £
5
E ~
3 i
& 3 units

Date

What comes next? Ready, set, go!

(17,18, 15,16, 13,14, 11, 12, o, 10 )

—J —J

Cm- describe the rule: Add one, subtract three. _)
E, 2,3,5,8,13, 21 , 24 , 55, 89 , 124 = -)

m describe the rule:Add the previous two numbers.

reate your owm attern:
% WERs — ,
Qescribe the rule: ARy )

Find the value of the VARIABLE in

Fill in the m|ssm'g_|fact0rs or products
each number sentence.

to CDIT\D'EIE each number sentence.

perimeter - . 1 péfl.meter = = =
area_27  ynits? = - area_ 27 niez 5 x E 20 /’.A 20 A _4_
perimeter 32 units . _ _
area_28 nps? 3x—6 3B=6 B—_?_
What comes before and after these numbers? Finish the patterns. 2 X =10 2C=10 C= o)
96, 88 , B0 ,_72 , B4, 56 ,_48 ,_40 ,32,24,16,_8 3xE=2l 3X=21 X=_7
144,121,100, 81 , 64 ,_ 49, 36 ,_ 25, 16,9 ,_4 ,_ 1 8)(:32 8Y =32 Y=_4
_4 ., 14,21,28,35 42, 49 , 56 , 63, 70 , 77 , 84 7x [E]=56 7Z=56 Z=_3
6 ,_ 12, 18, 24 ,30,36,42_48, 54, 60, 66, 72 6)(E =48 6T =48 T=_8
09
10
Date

(-
|4
=

Send each number from the IN column through the function machine. Figure
out the rule for each function and complete the OUT column of the function

table.

(e fic X \ m Y \ (e ‘\
IN N Jout || N JouT || N JouT || IN]our
1 1] 4 710 [ 3 T 0
2 20 s 210 2| 6 21
3 3| 6 3|0 3] 9 3|2
4 4 a4l o 4|12 4 3
5 5| 8 500 51715 5| 4

\.° CLEVACLEYVACLEY, \P

/

m

Let's draw quadrilaterals. Graph the points listed below each coordinate
plane, then connect the dots in the order they are given.

IN INJouT || InJouT ] N |ouT || v |ouT
1 K B EER 2

2 2| 4 201 3] 2116 %

3 3|9 3 -2 3| 24 £ )

4 I RCH | I I | I 2
5 e 51 o 5| 40 ,
6 6 6 1 6 %,
7 7 71 2 7 )
8 8 8| 3 8

9 9 9| 4 9

ol el el e y

111

FTLE. —r s T
-t — 4 — 1t
11
5 48 F ] 5 5 33 EEEEN 4 s
| Bl x * i X
2 / 2 \
sl [ Sl '
1.0-4,-1) 3.4, 3) 104, -2) 304, 2) 14-4,-3) 342, 2)
202,-1) 402, 3) 2042y 40-4,-2) 2(4 =31 442, 2)
Shape name: Shape name: Shape name:

parallelogram rectangle trapezoid

[EEEEa R Coordinate Plane

Draw and label:

* x-axis

* y-axis

* origin

* label the quadrants 1,2, 3, 4

Drawa HEXAGOM. Label each
§ A, B, C, D EandF Write the
11 eb aur for each angle below:

o=t
ot

- |
H—




Divide the marbles into FOUR equal groups. Color each group a different color.

What is 1/4 of 247 &
What is 2/4 of 247 12

What is 3/4 of 247 18
What is 4/4 of 24 24

Which fraction is HALF of the marbles? 12/24
Divide the marbles into SIX equal groups. Color each group a different color.
OO | Whatis 1/6 of 247 4 What is 4/6 of 24716
’\_!.; .| Whatis2/6 of 247 & Whatis 5/6 of 24 20
e '\_I: | What is 3/6 of 24712 What is 6/6 of 24724

| Which fraction Is HALF of the marbles? 12/24

¥ i
| |
T\ N

[ i

o

Divide the marbles into EIGHT equal groups. Color each group a different colar.
C O |’\; O \.. What is 1/8 of 247 3 What ?s 5/8 of 247 15
[ { "\...' \( What is 2/8 of 247 6 Whatis 6/8 of 247 18
o e What is 3/8 of 247 g Whatis 7/8 of 247 ¢
| - !

What is 4/8 of 24712 Whatis 8/8 of 247 24

PO

Divide the marbles into TWELVE equal groups. Color each group a different color,

& |' I r | Whatis 1/12 of 247 2 Whatis 7/12 of 247 14
\-: _ s What 152/12 of 247 4 Whatis 812 of 247 15
\.J \- u Whatis3/12cof 247 ¢  Whatis 9/12 of 247 153

Whatis 4/12 of 247 5 Whatis 10/12 of 247 20
What Is 5/12 of 24710 Whatis 11/12 of 247 22
What is6/12 of 24712  Whatis 12/12 of 247 24

f_l \__I I
\_LL_\... '

Draw least 3 more pol Eons to complete this pattern. You may draw

Date

Each square on the map is TWO SQUARE FEET. Most animals take up more
than one sguare, so please approximate the coordinates as best you can.

|. Name the animal at each coordinate on the opposite page:
(10,14) __ D (7.6 __orangutan
(9,21__zebra (.14 _parrot
3,17 _giraffe 5,5 _gorilla
(14,10 _polar bear (15,-4)__sea
(7.4 _penguin (1z-13y__lion

2. Write the approximate coordinates of these animals on the zoo map:

ﬁ‘( (-14,-20) %(1&,-6 )
FW6a) — (s 2) R s 8

3. The rhinos need shade. Draw three trees in the rhino enclosure and list
their coordinates here: .
answers will vary

4, The Snack Shack and the Restroom are the same size. How man;.r square
feet is each building if each square is 2 ft°? — i

14 x10 =140 ft e

5. Draw a path from the zebras to the restrooms. How many feet is the path?
answers will var%/
6. List the coordinates of all of the benches:

(-13, 1¢

12)

115

REGULAR or IRREGU polygons. Label each polygon with its name. KEv
rule: each polygon has one side mare ' - P
|I_'I (-14,-13) B bench
7. List the coordinates of all of the emergency exit signs: ‘.0
quadilataral p— (-12, -6) table
riang | \ENSWERS MAY VARY : i
3 sides g;:i\[ergeqcy
113 114
R T
i e Py Date
M ::g : \]\‘ Problemn  Expanded Form Separate Decompose  Add products
—+ ] 2x43 [2x(40+3) 2x40 2x4x10 80
v 2x3 2x3 + 6
| h_ 1'; My
1 N
& _\\ 6x26 |6x(20+6) Gx2x10 120
* : 'K NEN 6x6 « 36
L | M N 156
B o+ __-_'2 3x59 Eh 3%50 3x5x10 150
DI <0 7? _9 3x9 3%9 ]
7 . Ll cEl
B | : 8x67 | 4, (60+7) 860 8x6x10 480
H. o+ ax7 ax’ « 56
] 3
4 II* | 2
——
!J_ | 4% 753 |4x(700+50+3
BE B R ErEIE TE5 43 2, 1015 16 rqa ( ) ji ggo
I & 2 4%x3
rang :
.-5 |
| | p—| | 7% 468 |7 X (400+ 60+ 8) 7 %400
: fm M 7x60
M _ x
2
: :* 4
, 2
: e ifrs_'.ji ) 5x274 [5x(200+70+4) 5x2x100 | 2000
I DOH i 5x7x10 350
\\ »}: 5x4 + 28
] N it 1370
1L, N ;; 2x%363 [2x(300+60+3) 2x300 |2x3x100 600
& woonsay M 2x60 | 2x6x10 120
: E ?m €, 2%3 2%3 s 8
al L] 726

116




AVARIABLE represents a number. _ o o
A COEFFICIENT Is a number that precedes and is multiplied by a variable in a
number sentence.

coefficient variable

5A =20 A=4

Trace each term then write it twice more.

Find the value of the VARIABLE in each number sentence.

3A=21 A=_7_ 12-D=10D=_2_
X+3=12 X=_9_ 3T=24 T=_3
12/F=3 F=_4_ 6C=48 C=_8_
15-2=9 Z=_6_ 8X=72 X=_9_
8Y=56 Y=_17_ 7S=42 Y=_6

Send each number from the IN column through the function machine. Figure
m#jtlthe rule for each function and complete the OUT column of the function
table,

ﬁlve: (\ ﬂe: }{-5\ me: )(,."2\ 6&:){"’10\ me:)( 10\

INJouT || N Jout || v JouT || N JouT || N {ouT

Date
Problem  Expanded Form Separate Decompose  Add products
3x634 |3x(BO0+30+4) 3 x 600 3xB6x 100
3x30 3x3x10
3x4 3Ix4
9x 475 |9x(400+ 70 +5) 9 x 400 3600
9x 70 630
9x5 + 45
4275
2x 697 o+ | 2xe00 2%6x100 1200
2x90 2x9x10 180
2x7 2% + 14
wia| 1394
- v"“_".ﬁ'l

4% 2457 [4x(2000+400+50+1) | 4 % 2000
4 %400
4% 50
4x1

2x7000 | 8000

8% 2643 |8x(2000+600+40+3) [ 8 x 2000
8 x 600
8 x40
8x3

Tx 7343 [7%(7000+300+ 40+ 3) [/

How long Is JHIRESEEY water park pass goad?”_ | YO Baty starts &t
your movie? ST T i you 1 hour and 55 O
=t minutes to drive

Time Fiours | minutes Tme Tiours | minites | | there. \:\‘hat LII'I'IE?
111_:55?9.1 15 25 should you leave? £
'L:'l'Jl'J 1 15 5 45 Time | hos | minoies
115 P - K i - 11:05
3_0_ minutes 9_0_ minures

Are there more than 60 minutes? | Are there more than 60 minutes?
If =0, TRADE 60 minutes far 1 hour. | If =0, TRADE 60 minutes far 1 hour.

1 hoursand 30 minutes 11 hours and _30minutes | [1:00 P

Draw lines to match each month to the number of days it has.

How many days are between Christmas and Valenting's Day? 50
How many days are between Halloween and Christmas? 47

In each box, color the second shape so it's EQUIVALENT to the first fraction.
Label each fraction.

8 3 101 5 3113 1

21 -3 41 2 5115 2

3] -2 8| 4 7017 9 5% 5866 | 5x (5000 + 800 + 60 + 6)

9 4 21 11127 5 : ; C

5 0 121 & 8 18 7 5% 60 5% 6x10 300

5 - 6 |16 g 5x6 5%6 =20
\7 J \6 AN AN 29330
118
How Iong 1= your a-aay [ your wtarts at Date ¥ o

&

ultiplication Algorithm for 1-digit Multipliers:
1. Stack the numBers with the smalier rumber [the multipert on the.
bottam, Unirg up digits By place valiss,

oty the multipher by the rumber in the cnes place af the top
writing the angwer undes the Ene. If the praduct of these two

nire, move the TEN aver to the TENS FLACE

< &
451.92

X
0

5x8=40
Move the 4 TENS to
the tens column,

70%2=140 30x8=240

4x2=8 x7g‘ 6x8=48 xgg
add ] add —
products 148 products 288

34 86 78
X2  x7 X8
68 602 624

53
x3  x6  x8

93 402 424

1 foot = 12 inches 1 yard = 3 feet

Convert these US Customary units of length.

2yards=_ 6 feet
12feet=_4 vards

2feer= 24 inches

36Inches=_ 1 yard
120

1 mile = 5280 feet

1 mile=_5280 feet
60inches=__1 yard_2 feet
1{eret:;3yardsllnches
11 feet=_3 vyards_2 feet




Use your place value chart to fill in the blanks in this table.

Word Form Expanded Form Standard
R Form
Two millian, ane hundred tenty-four D+ TG+
thousand, eight hundred fifty-three + W
Two hurdred ten millian, one hundred one thausand 210,101,000
1,008,001

Seven trillian, one millian 7000000000+ 1000000
Three trillion, nire hundred fifty million, twa hundred 3550000235
thirty-five

12,010,001,009

Use your number line to find the sum/difference of each problem.

8-11=_-5 2--4=_6_ -1-11=-12
7-15=_-8 -8--8=_0_ 12+-2=10
3--6=_8_ 4-10=_6_ -9+-7=_-16
-3+5=_2_ 3-56=_2_ 9--7=_16

Use your FRACTION CIRCLES or FRACTION STRIPS to compare these fractions
by drawing the correct comparison symbol (<, =, =) between them.

Date

‘u_lﬂplicuﬂnn Algorithm for 1-digit Multipliers:

1 Stack the nLMbens with the smaller number ithe
multipliert on the bottom, Bning up digits by place
value

2 Multipl
of the

Find the products.

4 4
735x 4= BA9 X 6=
oxs-2800 135 o 849 398
700x% 4 2%58 X 4 RJan 4"}00 X 6 X 5
30 x4= (
Sxd= 20 =T Ee xr‘,- = 54 -
wapotuss 2040 2940 |, .. Soos 2094 189

34 53 22 1
856 364 827 256 643
X 7 X 8 X 6 X 4 X 3
5992 2912 4962 1024 1929

73 13 33 21 65
284 936 478 832 598
X 9 X 5 X 4 X 8 X 7

el 4680 1912 6656 4186

Use a ruler or a tape measure to measure the following items to the nearest
1/4inch (use units!;

Yourbed Afork
§ § § § l < l Your table ERS WILF'_DO k
4 8 8°8 4 "2 ANSW VARY
Yourshoe Adoor
1 = 4 5 = 8 1 > 1 A painting A phone
_ = = —_ = = b - i
2 8 5 8 3" 5 122
121
Date
Find the missing dimensions, then divide each shape into two or three
recrangjes Find the perimeter and the area of each small rectangle, then add 8 R 1
u thgsAeNaéfgg to find the area of the WHOLE shape. All of the angles are + “© 3¢ & =3
4 units 9 units l Sunits 3; 2§AH“5 21‘7_3 7) 21 )'7 "
jul ;’ pf' o Cewer £ 25 e
°= 5 units - " Bl , Find the quotients, Use remainder notation,
: - | VAN L 5 4 5 : 5 A1
s 3 urits & ) g 2)10 3)12 5)25 3)24 2)11
;" Bunits
9 x9 -81 9 48 -72 8 R2 4 3 R1 3 R1 4R
7 x4 -28 5,5 .35 5. 7-3 3)26 4)16 6)19 5)16 6)25
6 x4 -24 2x3 -6 4.2 -8
perimeter 3% _ynns perimeter 54 _unis perimeter 40 _ynis 9 R1 3R2 7 R2 7 R1 2R2
et rea 50 i area 61 ums’ 2J19 3/  4J30  7J50  9J20

Use circles to group the items, then complete the equations.

. -

=2 12+6=2 sjﬁ What is 1/6 of 12?
. 2

%:3 12:4=3 4]12 Whatis1é40f12?

12 =

T=4 12+3=4 3)12 Whatis1/20f12?
12

6

Find the answers:
2=2x2=4
2=2x2x2=18_
2=2x2x2x2=16
2=2x2x2x2x2=232

3=3%x3=_9
3=3x3%x3=27
3'=3x3x3x3=_81

3=3x3x3x3x3=243
123

Find the products,

.
il 132 5423 3213
100 x X 4 X 3 X 3

20528 16269 9239
53 413
4751 3222 4827 2431
X 7 X 4 X 5 X 2
B 325¥F 12888 24135 4862
1 425 2 134
6844 8739 9832 7368
X 2 X 6 X 3 X 5
13688 52434 29496 36840

124




Let’s draw polygons. Graph the points listed below each coordinate plane,
then connect the dots in the order they are given. From the last point, return
to the first. v

o ) y 7 ¥
P | 1 / 3 | T‘“';"‘ N |
TS i N A
A - | 4 -0 A 2 I 3 AT 2 Vil
¥ x X x X
: : N
| 0 1 A E | B I A P N P P 0 5
1423 340, 4 1i-2,-4) 442 4 14-4.-1 405, 1)
2.541 l]J 4.%—4, %; 2.52, -4 5 -é, 4{) 201, -l]] 51 3, 4
542.-3) 344,9) B.{-4. 0) 33,4 6133
Shape narme: Shape name: Shape narme:
Pentagon Hexagon Hexagon

Each block has 100 squares. Color the sguares to lllustrate each percentage
equation and fill in any missing parts of each equation.

R

Use circles to group the items, then camplete the equations.
ROO4 A, 4

: ";3:“% 'Q,‘lffm 16+4=4 4]16 Whatis1/4of1624

& G Whatis 2/4 6f 167 8

nl$ 1

2
" =2 16+8=2 8J16 Whatis1/80f1672

What is 4/8 of 167 8

8
12§=s 16+2=8 271§ Whatis1/20f1628
Whatis 2/2 of 16716

125

Repeat,

Find the quotients. These problems have remainders, but they follow the
exact same pattern!

I'm thinking of a number between 20 and 30, The SUM of the 2 digits is 6.

What is my number? _ 24 What is the PRODUCT of the digits? 8
126

Find the positive square roots.

V16=4_ VH=6_ 2 CIE
V8l=9_ VeA=5_ V=1

Draw lines of symmetry in each shape. Label each shape with its name.

Rectangle

V25=5_
100 =10

Trapezoid Parallelogram

Color all of the remaining shapes so they are eguivalent ta the first shape in
each box. Label each fraction.

L s

What do all of the DENOMINATORS above have in common?

C-G-O- =,

3

What do all of the DENOMINATORS above have in common?
they are each multiples of the first number

Use your number line to find the sum/difference of each prabler.

-7-4=-11 T Bt 4+-5=_-1
5--7=_12 4--5=_9 3-10=_-7_
10+-2=_8 “4+5=_1 FhE.2
2t F= 0 8-13=_-5 2-=2=_0

127

[ate

Find the factors of each number. List them from the least to the greatest.
Circle each of the prime numbers.

8 1.2 .3 .6 . 9 .18 @ 1,11
C) 1,5 4 1,2 ., 4
My 152 5 4 58 5 10520 o 1,3, 9

Wi dg 2 5 6 udO b L2 5 8 56

Complete these Venn Diagrams.

Factars
of 18

18

Find the quotients. Some have remainders and some don't.
[2]4e(1]
2]4[9]




Use your reference pages to fill in the missing angles (the orange ovals),

o @80 lﬁﬂl_ . :?."32&(2-
120+ . -
i \flll_ T?‘;& wl;;‘;__ _:“—jm
LN N an e, £
T80 - _\30 210%-/ A 1830
- i VE
g L TTIREY
180 il /360 "ngio >

All of the angles are RIGHT ANGLES. Find the missing dimensions. Add up the
perimeter then find the AREA by subtraction. Multiply the overall length times
the width of the LARGE shape, then subtract out the'small shapes

Zisits LI Suni

3 units 3 units

£ 2 units
i}
4 -
E 5
=) "
I
Tunit

Bunits

area of the large rectangie: area af the large reciangie;
8 x b = 40 9 x 5 =45
subtract the area of the missing square; subtract the area of TWO missing rectangles:
=_4 UBLE MEBER 5 T gy &
L X L o af ane MissNE —Ce e e
rectangle:

perimeter _ 26 ynits perimater 28 s
area_36 s area 41 ynys:

Draw rectangles with the following areas:

81 units® 49 units® 32 units’

Date

165
X 3
495

Check your divisiogl

Repeat.

[1035] [441]
X 3 X B X 5
315 882 745

stctreremanger 317 aoameremanser B84 sauype remaner /49

aodheremancer 604

Round each number to the nearest 10 and add the rounded numbers,

$12, o1

22 $30. 69 $10, 25
dalars. cents. dllars cens dalars. cents: doilars. cents
Round each amount above to the nearest dollar,
i $ 16 § 31 § 12 § 10
dokars dellars dcllars dolas dollars

List the months with 31 days. What fractional part of the year is this?

January, March, May, July, August, October, December. 7/12

131

51 + 38 45 + 25
B . MG - 90 50 . 30 - 80
T25 130
You gave the cashier $5.00 m buy a book that was Date
$3.84, What iszour charige? Color coins to count UP
23000 5500 = ¥ikes! FOUR digits? Just follow the same pattern,
EENNNE @@ R[ 1 | “Speck your divisian.
SRy 28] 1787

X 4
7148

act s ramarider 7 L4

[O]S]1R2]

[OI6]2T7IR3I [2I1I2]7IR3]
8;5:33]1_9 4)8 5]111]
! o




1.Trace the horizontal LINE red.
2.Trace the horizontal LINE SEGMENT
orange.
3. Trace the vertical LINE green,
4. Trace the oblique LINE yellow.
5.Mame the two perpendicular line
segments: .
EF and CH
6.Trace line segment BD purple.
7. NarrErhe wo paralﬂnne SEGMENTS:
ST and __ QR

What fraction of
this whole cand

-bar is one piece;
1/8

What fraction Is half of this candy
bar? 45 How many pieces is ane third? 3

What fraction of this
whale candy bar is one
piece?

1/9

What fraction What
of this whole fraction of
candy bar is this whole
one piece? candy bar
1/18 isone ;5
What fraction is half of this candy HIcRee
A 9/18 How many pieces js one fourth? 3

Draw a bar graph to show the number Hmesdigil Clsses

Date

You are making holiday cards for your
family, Each card has three trees on the
front. You have 87 trees, How many cards
can you make?

3wreet= 105 b [2]9] _E. l l
i 5
]
3|5
3[2]
3]

30 trees trees cards
poEasen 87

How many times can
¥Ou Sbkrac 37

[0]618]8]R[O] [1I5]6]2IR[2]
6/4 T[2[8] 5)7 BIT]2]
ol Bl
[a]1] [2]a]
_aa _.2“"1:
LIsl2] 3l
418 —3[o
] [I]2]
-1]0]

Doy & vigys to make Sie. Show. 4 i G\tn;nakr: 8BS
of children in each class: ; Y h @ ml; ? \@ﬁ TG o total
Deg:r':mg : . L 145 @ cains
Cake decorating: 23 children Sign R RS . 3 l 4
Larguage
Sign Language: 34 children 5 2 l l 4 8 2 8 10 t 3 5 8
Grammar Games; 18 children st 69|69 5 l 3 9 | 8 1 9
a .5 e 5 2 @5 3 35 6 1 4 IL l 3 3 ? 8 5 13
133 134
:’\gﬁu alre li?uildir%g tay tg_rs.bEa:h_Cﬁrg r:‘%eds 4 - Date
eels. [fyou have a big box witl ~ 3 ; All of the numerators 2 i
wheels, how many cars can you build? . Crder these fractions from least to greatest, (All of the numeratars are one!)
awihees=1 ars B 0 I"j I’} Eﬁﬂ 1 1 1 1 1 1 1 1 1
s e HEE TR 111211 (2 1 1 1
# wheels cars — 3 1 4 2 5 5 4 3 2 1
940 o
' I T ¥ 13 [ & 4 a2 3
2 10 M 8 6 12 11 10 8 6

Hew mary imes g
o4 EUbETAm 47

BRBELE O 512z
28 E[AT6] SJ3 T5]7] 3281604
18] 1] {0/

[o]2] ETE [2]8]

-10]2]

L of4]

114

0

Find the products,

5 431 213 2 373
7347 3762 4738 8273 1394
X | 2 X 6 x| X 3 x 8

14694 22572 18952 24819 11152
362 441 18 13 652
1483 2893 1019 6381 2978
XEEH X |5 Xy x 4 X
11864 14465 9171 25524 20811

135

Write a comparisen symbol between each pair of fractions. Use your fraction
circles if you need to.” (All of the numerators are anel)

i@l i@l 1@l lal
5 6 g -7 109 g
1 1 1 1 1 i 1 il
=< = - > = - > g
397 478 3 W] 557
Write a comparison symbol between each pair of fractions. Use your fraction
circles ifyDLI needto, (The denominators in each pair are the same!)

a2 iad 2.5 3.4
5% 5 B 4 " 4 6 6
leaa Lan =7 Wi =P %
393 797 293 9779
Order these fractions from least to greatest. (All of the denominators are the same!)
Color the fraction then write the fraction overit.

3 5y 2 4

5 oH , B 5

2 41 Z £ &

9 9 9 g g

-
[
=2}




Colar pieces of each bottom shape so it matches the top shape. Then write each Data
equivalert fractions number sentence,

List the first ten multiples of: MName two common
. R O O e multiples of 3 and 4.
%= 4,8,12,16,20,24, 28, 32, 36, 40 12 , 24
510, 15,20, 25,30, 35,40 45,50  miicierSanae,
612, 18, 24 30, 36, 42, 48 54, 60 12 .18 , 24
Use the Butterfly Method to ﬁn? the missing digits. What is the LEAST common multiple of 3and 67 6

4x3=12

What is the LEAST commion multiple of 3and 57 __ 15

I}
o] I [ N

What is the LEAST commeon multiple of 5and 67 __30
What is the LEAST common multiple of 4 and 37 __ 12

\

IR
XiN
9 )
YiIX
oolro 03E=)

o
I

©

Bl

SN 1

Find the least commen denominator of each pair of fractions

5 1

— and = — and =

3

2]a]7]RIo] AR & e 5 W

2) 5/3]8]9 _

1] Lcp_30 LCD _12

1 | 3 | Rewrite each Fractlén |r! each pair above with the LCD. Write the correct

11021 comparison symbgl be%\meen them.
I A

[o]1]8 I 9
L S " -
—1]8 = 12 12

[}
w

ax]

What if you have TWO chocolate bars? Each has twelve pieces. How many
pieces do you have?

= 24 -
12
=12 24+2=12 2J24
A e e e e Aoaoetha et

¥ 1 Remuainder
Multiply the QUOTIENT and divisar from each problem above to check your division.

C <=9

2 9 7 |&— guctient

X 3._ divisor e 7
891 5388 3766 If you shared these two chacolatF bars between four Eeo e, how many
i sap o pieces would each person get? B What fraction is that? 6/24
addtheremarder 891 il therearded 389 s thetermnirder 37 10
137 138 which equals 1/4

Name That Fraction!

Date
Draw 2 picture and write two equivalent fractions to Fraction Addition
represent each armount of chocolate. One of the the Draw a picture to illustrate each number sentence in each box, then

fractions in each box should have a denominator of twelye find a comman denominater and add the fractions.

l+l:l iz+l=3,’b'

12 pieces 2 2 % B

9 pieces

9/12=3/4

LI

h G, SR

6 pieces §‘+§a-_ o/8
Bl 244 9012 12 + 1 =11712 2 + L = 1171
4+4 1 ,|2+6 10/12 +4 6+12 11/12

Fraction Subtraction ey thatrhymes

Draw a picture to lllustrate each number sentence in each box, then find & commaon
denominatar and subtract the fractions.
Y35 By [E-2=31
20 ] 4 B 3¢ 12
Area=_9 x =25 units? Area=_/ w9 =30 units 1 = 3 s 1 Tz
T = i e =P | SmE= 312 e =16
~ 4 12 4 6 2 3
Colar 3 columns of squares. Calor 5 columns of squares.
What is the FRACTION of the colared What is the FRACTION of the colored
area compared to the total area? 3/0 area compared to the total area? /
AREA afthe colored squares =_ 12 units®  AREA of the colored squares=_ 22 uniits

139 140




Llst the ﬁrst ten multiples of: Find the LCD:

24,3036, 42,48, 54, 60 4 35 Lep 42
== 2 B :
28,35 .42,49,56,63,70 6 7 —

Order these fractions from least to greatest. Draw each fraction, then label it.

111:: ™A PY
13131 (OOBdONG

Use your number line to find the sum/difference of each prablem,

11+=13= -2 5--5=_10 Fen@= 1
“9+:14=_-23 el 5--10=

-1-12=_-13 I=Bi=sl 11-10=__
3--7=_10_ ~8FT=_2 3-12=_29

Round each number ta the nearest 10; add the rounded numbers mentally.

Date
Simplify these fractions.

.

(=

Fractions Fractions 211131117
LoD i Leo 20 5174 |2|10
e SRR s O P B ) 3 et |0.[29116 (10114
Lco 1% Pl B Leo 20|20l20 | 20|20
Orderfractors: [ 2 |4 |6 | 8 omderfractions | 8 | 10(14 | 1520
ast togreatest || = | == =—] — ast to greatest | —— —_— =]

12|12 112 |12 ] 02 2012020 | 20j20

* Find the Lowest Commoen Denominator

= Corwvert both fractions so they have the LCD.
oo 5/6 * Add the fractions.

4 6 = Simplify the sum.

Add these fractions:

List the first ten multiples of: Find the LCD:
% ,16, 20,24 28 , 32, 36,40

6 1%, 15,24, 30,36,42 , 48, 54,60

Caonvert both of these fractions so they have a cammon denominator:

SN ek

67 + 35 23 + 19
Ao+ MO = 110 20 4+ _20 =_40
88 + 24 55 + 54
90  + 20 = 110 60 + 50 =_ 110
141
oy ¢ D
4x"‘=20 & x3=_0 e
) 40 =g 8 +ﬁ = 14 Multiply Fracti;uns by WHOLE numbers. Al\gays simplify!
v - 1:,( Lo 2)(3 :—.—1l Zx4 :1
P D = = o
W2 X ‘K 6 ‘;:'xg =_45 I8 a 5 8 8
e+ I N IC G ING L L Sl
Gr@=12 W+7=1 3 3? 2 1 2.i 2 5 =12 éﬁe
2% ==15% L¥ == T | i ==
7%° 77157 4 2 g 13 3 4

Five children will share fifteen cookies. Write a number sentence and
illustrate it,

15/5=3

Ise your number line to find the sumddifference of each problem.

3+5=_8_ 4+-8=_-4 2-6=.8
3--5=_38 4-8=_-4 2--6=_35
-3+6=_2 4+8=_12 GF2=_4
3-5=. 2 Qs 2+6=_28
143

P fogn | -~ 4141
2 2 - 2 X B 4 % 2 5
fei_1 §¢3_3 3e3_9 fgi_1
3272 3371 5%5T 2747

The operators are missing! Insert the correct operator (+, - x) in each yellow
circle to make the number sentence true. Al answers have been simplified

101 _1 1gd | Bt 4  2ed 1
¥353 P35 ET3T®m 3733
4 2_2 B d 1 g8 . Ngd
5=357% §X5~3 F¥5T15 =l




How much change will you receive if you pay for each item with $1.007

e %

21 cents 57 cents 29 cents
Fractions _:é "I_ 2 _?. 2_ Fractions "I_ ”9_ _1 é §_
Lo 24 6(2(4|8|3 o 30 S|o(3 |58
fwheen |12]12]12121116 Equndert .. | 6 | 27|10[12[25
LeD 24 (24|24 (24|24 LEE 30/30[30{30(30
::‘Irdterh:[ratl-ﬂtr'rsdt 12({12]12(16]21 Dr<|;a{fracuofn:—t _'-1_ 10{12|25| 27
pas FETEED. | | e | e | = | e Last to greates| Sl e=l el

§ 24|24|24|24|24 5 30(30]30/30/30

Find the quotients.

2T6[o[1]

1]
0
1]

C hec%your division. 4

X 3 X S

(ol 7][9]R[4

(
3)

= _-||r'\

=

o] olle| ool +—|

2667

Date

Divide fractions by WHOLE numibers, Always simplify!

the reciprocal.

Wever divide by a fraction, inst

d multiply by

T gl 1
3 %% g 2™

Divide fractions by fractions. Always simplify!
Never divide by a fraction, instead multiply by the reciprocal.

One donut costs 75 cents, How much is one half dozen donuts? What is your
change after you pay with a $5 bill?

6 donuts will cost $4.50

50 cents is your change

780 SHepL )
add the remaingder 78 | L ankd the rema |'(19.|‘3_9_9_ add the remaircder 2 6 E}
14 146
Round each number to the nearest 10 and add the rounded numbers,
Date
3_5 + 2:-_"6 19 + 33 Complete this table, Leave the percent column empty for now.
R g - 130 20 30 - 50 P ] sl Draw a line graph ta shaw the following:
] temperatures.
30 60 90 50 70 120 - March 4 15%
2§ B P ol e s110| 20% | o2 March 5 g
- March 6 -6F
VEEN
3/10 | 30% 0.3 At :
Use your reference pages to fill in Craw: B March @ 5%
the missing angles {the yellow ovals). = = o 50
Right Angle Line Segment 4/10 | 40% | 0.4
40"
*~e -
L Q 5/10| 50% | 0.5 £ 30%
Reflex Angle Ray Q E 20%
6/10 | 60% | 0.6 o 10%y
- = E o= AN
8 7 7
O 7/10 | 70% 07 0%
Obtuse Angle Line o
s - 0 8/10 | 80% | 0.8 *F ik
Straight Angle Acute Angle g 9/10 |90% | 0o dates
Why do we use line graphs to shaw
B— = temperature?
’ 10/10 100% 1 It allows us to more clearly see the patterns

Library story time starts at 10:30 AM. The clock below shows the current time:
It takes 20 minutes to drive to the library. How much time do you have before
you have to leave?

55 minutes

Your family hatched chicks fram E%%S. You incubated two dozen eggs. Mot all

of them hatched. Eight more eggs hatched than didn't, How many chicks do
yau have?

We have 16 chicks
chicks

urhatched
1okal g s

If it takes you two and a half hours to drive to the airport and you have to be
there by 7:00 am, what time do you need to leave home?

4:30 am




There are three tennis balls in a small packaﬁe, The medium-sized package

has twice that amount. The largest package has five times as many balls as the

small size. =
How many tennis balls are in the medium-sized package? 6

How many tennis balls are in the largest package? 15

You have one gallon of water. Use a blue crayon to "fill" as many of these
containers as you can before you run out of water. Use all of the water.

Wwhat fraction of the containers did you "fil?  g/10
What decimal is that fraction? 0.8

You are having a pizza party with 13 friends, plus yourself. You figure each
person will want to eat 4 slices.

How many slices do you need? 52 13 % 4 = 52

Each pizza has eight slices. How many pizzas do you need? e ;.,,
X k]
& & ]

v AL

7 g 7 e
% 7 56+8=7 8J56 's,,iu:-‘:-,-.‘,ﬁ

Date

Use the menu prices to add up the cost of each meal. Find each customer's
change if they pay with a $10.00 bill.
1.25 -5.80| 1.75 -7.19

ﬁi"‘—"' 1.75 4.20| 1.75 2.81
S L7

] 5.80 7.19
$4.20 is your change

2.8010.00]13.69 10.00

$2.81is your change

$2.21is your change

PI7BI2IR1] B EES
3/‘6_|.3 [#19]
—_6 l

Check your division. Multiply each quotient by its divisor.

%,. @

ek X4 7

Improper fractions have a larger numerator than denominater. They should 3812 5124

be written as a whole number or a mixed number instead of as a top heavy o o .

{larger numerator) fraction, This one Is a WHOLE number. acd the remaiger 3813 adithe remaircter 9129 add the remainger_ 0399
149 150

Re-write and stack the numbers, lining up the decimal peoints. Find the sum. Date

43+91=_134 7.5+ 255=10.05 1.75+23=4.05
502+34=2842 143+21=353 218+1.22=_34
1.14+1.16=_2.3 27+175=4.45 16+1.8=_34

Fractions 111171215 Fractions 21411 1nle
Lo 18 211Bl9(|3]|6 Lo 21 3|73 (A7
Ec,J\;aIe:.t.i i i H EE E:‘il.vallewt E E L E E
&= 115 |18 | 8|18 |16 fEgee 157 21|21 | 21] 21
Oerrecars | 1| 9|12 |14 [15 oo |7 [11/12] 1418
estiogredtest | | 0|0 10 (22 eastmgreatest [ | 5|5 | 57 55

If you paid for each of these items with $5.00, how much change would you
receive? Draw the bills and coins you would use to make that amount.

ANSWERS MAY CHANGE DEPENDING ON
HOW THE CHANGE IS DRAWN

|Use the correct comparison symbal (<, =, =).

358-129 = T4+57 7219 = Lf6d
B1-1 < 6x3 one half < threefourths
284 = 56/8 secondsin =  cupsin
one minute one gallon
151

Complete the percent column in the table on page 148.

Each grid has 100 squares. What percentage is each color?
percent fraction percent fraction

Add all of the percentages.

+E0- 8]+ Ed51 200

Why do the percentages of each color all add up to 100%?

Because they all take part of a whole.

Do percentages always add up to 100%? Yes.

Each block has 100 squares. Color the squares to illustrate each percentage
equation and fill in any missing parts of each equation.

1=

What fractional part of this word is vowels? 1/4

T

Writing Fractions:

What fractional part of this word is consonants? 3/4

What fractional part of this word is vowels?  2/5

What fractional part of this word is consonants? 3/5 an“Es

152




Send each number from the IN column throuEh the function machine. Figure
out the rule for each function and complete t

e OUT column of the function
table. ;i

You have seven quarters and your brother has nine quarters. How many
quarters do you have altogether? Write a number sentence.

7 quarters + 9 quarters= 16 quarters
How much money Is that?

4 dollars

Let's draw quadrilaterals. Graph the points listed below each coordinate
plane, then connect the dots in the order they are given.

W ¥ ~aF
na | | - | I | La
A
£ % +3 T £
] i L]
bR 3 I EEE P h4 s IR R i
x X X

e - 1 1 12

SR NN :
140,-4) 310,4) 14-5,-3) 342,3) 14-5,-5) 345,3)
203,00 4030 2453,-3) 44-5,3) 2(5,-3) 4.?-5, g
5.(0,-4) 54-5,-3) 54-5.-5)
Shape name: Shape name: Shape name:
r quadrilateral square
153

Date
Solve: Order of Operations (PEMDAS).
2+9x3-8=_21 1.Parentheses
2.Exponents
- «3+1= 0O
4-15+3+1=_0_ 3. Multiply & Divide from left to right
5xb-4x4=_29 4. Add & Subtract from left to right

Write operators (x, +, -] in all of the ernpéy squares to make each number
sentence true. Remember to apply the Order of Operations, PEMDAS.
SHEMETS May VaFy

You earned $125.50 doing yard work for one neighbor and $178.50 doing
yard work far another neighbor, How much did you earn altogether?
A

125.50 1
+178.50

$304.00

Add or Isubtract these decimals. Stack the numbers and line the digits up by

decimals.

15+0.34 =184 11+46=_57 86-112=_748
275+225=_5 3.8-22=_13 9.9-81=_138
3.7-131=239 76+23=_99 8.4 +5.14=1354
154

Find the missing decimal addends.

15+ 2237
[2&]+22=5
37425 |-6.3

75+ 25 F 10
[2]+33=75
41+ 2:]-8.9

start S+dx2 |3 | 312-4

2x5+2 4 2 e -2 10§ 3+3xdagus 1-5x2 § 9 | 5+15-3

5x5-5 1 13 | 4x2sedselndsages 8-10-2 § 16 J4+6x2

3-18:3 [ 3 [ 4x8=2 [ 16 [ 1+16:4 2xdsemfR3safinish

LA

Find a common denominator, then add and subtract the fractions.

Yo_1_1 1457 2_3_L 1,1_5
2 z-% 7ztgTs 37g"% 32%37%
1412 3_3=/ 1431 Z_1_-3
37370 §TRTe 37§ 8T37E
1_1-2 3_3=-° 3_3=-2 2_1-2
3TRTE 2TRTE 2TeTR 273

page 156 PEMDAS SOLUTIONS at the
end

Add the fractions and color the squares to match. Remember to simplify the result!

™

341=1 1,428
4 8 36 °
ol IR0l ] B s
1,.1=2 141=2
07510 47372

Add or subtract these percentages.
14% +25% = _39%
31%+18% =_49%
97%-79% = _18%

100%-99%=_1%
11% + 54% = _65%
65% - 22% = 43%

If your grandma was born in 1952 how old is she?
Subtract 1952 from the current year.

You Eracticed the piano for half an hour every day and you have a lesson for
one hour each week. How much time each week do you spend playing the

iano?
. 4 1/2 hours
156




Let’s paint your bedroom door. What color would you like?

Use a tape measure to measure your door:

length:  ANSWERS MAY VAR¥:

Each pint of paint will cover 1,500 square inches and costs $8.95.
How many pints of paint will you need?

How much will the paint cost?

If Iou pay with a $20 bill, how much change will you get? Draw the coins and
bills.

Write operators (x,+, +, -] in all of the empty squares to make each number
sentence true. Remember to apply the Order of Operations, PEMDAS.

What will be@%te of your next birthday?
How many days is rhat%%?y?
What will be the date of your ﬂfreenth I{wﬂw

157

page 158 PEMDAS SOLUTIONS at the
end

Solve for x; (get « by nself

22+X) 2 10

Step 1: divde BOTH sides of the
equatian by 2

5[91, 2 <ua’ act 2 from BOTH sides of the
equal

Step 3: Check your answer by replacing X
with the arswer.

Solve for the variable:

X+8=10 X=_2 4(5-X) =12 =_2
(X+6)+3=5 =9 7X=21 =_3
2+3(8-%)=11 X=_0 2(X+5)-5=17 X=_56

The operatars are missing! Insert the correct operator (+, -, %, 4 in each yellow
circle to make the number sentence true. All answers have been simplified.

1.,.1-1 2.3_8 2.3_8 2.3
2°37% 4% 3749 575 B
111 1.2_3 2y1-2 2.1
3XZ°%2 773738 5X3=®8 33
l+l:l ;_l:l 5_2:; ixgzﬁ
25710 37373 5575 4N 3712
158

IUse the menu prices to add u the cost of each order. Find each customer's
change if they pay with a $10.00 bil

Jamaica and 2 tacos I harchata ard two guesadillas
$1.95 . $1 0.0(}
e e -$4.95
$0.65 S $1.95 3505
+$0.65 . $1.50 e
$3.25 +$1.50
$4.95
jamaica, torta ard 2 tamales
[’ $1.95 $10.00
W - o -
. $37 23820
$1.25 $1.80
+$1.25
$8.20
I_'Iil_'l_'RJ [O[8[ 2] BIR[ 2] (o] 8] 8 6]R[1]
34_|?|13 Si||32| 6J53I|?
pEIl] 19] 1]
[1]7] [4[1 [5]3]
-(al5] -[4[0] -[4]8]
oJ2]1] [0]1]3 o]5]1]
-2]1] 1] 0] -4]8]
[o[o]3] DEE [o]3]7
-0]3 -13|0 -3 2‘_
w[0] (2]

Check your division. Multiply each quatient by its divisor.

:B

5] X 6
4713 4130 5 31 &
Aok the remaincer 4-"‘1 3 aokd the remainder 41 3? Aok the remainder D 31"‘"
159
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at the end

Subtra;t the fractions and color the squares to match. Remember to simplify the

H_2- _3=-3 _3=-1
B 9 4 8 8 3 6 6
1_1-1 4 _3-5 1_1-*
2 4 4 5 10 1 3 4 12

Measure this rectangle with a ruler, using inches,

length: 2 width: 1

perimeter:  § area: 2

de th t hiths. Shade tw ts. What
PoAe 0 SSIRTB g e, Shade owo pars. Wha

What fractional part is not shaded?
160 4
!




divisor quotient
|EpBERT] [OEIEERE  [OR[ERE
2] 53809 9] 3[1]4]6 STas37
L]l l o] 1o l
[1]3] (3] (4] 8]
-1 2] -l207 - 4]5]
DAE [o]4]4 [o]3]3
-118 -13]6] -3l0]
| HHE [0]3]7]
cEIE -13]5]
B B

Multiply the QUOTIENT and divisor from each problem above to check your division.

[ 2694} aworen [ 349] | 967
X x| '8

2q— divisor X 5
5388 3141 4835
add the remeinerd 389 at the remancer3 146 add the remander 48 37

Find the missing fractional addends to make each number sentence true.

1’54- :§ 3 12:5
21 2 +3r 6
1471
2 |2 4




page 156 SOLUTIONS
8-4%0 - 3515 imimenronmamois 352 354 =18 syt

1.division 16/4=4 1.multiplication 7x3=21

2.addition/subtraction left to right 1-4+3=0 21 2 addition/subtraction left to
1- 16_=-4— + 3 3 + l_)(—-S' +1 = £ D right 3+21+1=25

1. parentheses

25 16 9 1 2 multiply left to right 10x4=40

1.multiplication _40
2.subtraction left to right 25-16=9 X -

1. parentheses 3+7=10

1.parentheses 5-4=1 1 2.multiplication 3x1=3
5 X ( X 4 2. ﬁﬁultlpllcatlonlex-’l 20 (-3’4—7) +-3"*1 ;5 3.add left to right 10+3=13

1.parentheses 5-4=1 é(‘s 35(’6 1.multiplication left to right
5 X (5-;"4) X 4 ultiplication left to right 5x1x4=20 O 2.subtraction left to right
1.parentheses interior 4-4=0
_ g 2 2.parentheses exterior Ox5=0 1.parentheses 6-3=3
5 X 5'('&!2&) = 3. multiplication left to right 5x0=0 3 X (6—"8) X 6 54 2. ﬁwultlpllcatlon left to right 3x3x6=54
1. parentheses interior 5-4=1 1.parentheses interior 6-3=3
5.(,5&) 4 = 2 2.parenthese exterior 5x1=5 a&;al 6 54 2.parentheses exterior 3x3=9
X 3. mu[t|pl|cat|0n left to right 5x4=20 X 3 _multiplication left to right 9x6=54
0 1.parentheses interior 5x4=20 1. parentheses interior 3x6=18
o) 96 2.parentheses exterior 5x20=100 _3 2. paremheses exterior 6x18=108
) 4 s U 3 subtraction left to right 100-4=96 3 X 3.multiplication left to right 3x108=324

1 two exponents

1.exponent 4,8 2.parentheses interior 4+4=8
6(—1-&&#'_ H 9 2.parentheses interior 10-9=1 M + 1 3.division left to right 8/8=1
_3..p.a.;er1theses exterlor 6x1=6 ition/su btractlor‘l left to right 1+1=2
division 12/2
ddltlom"subtractlon left to right l + 1

9-6+6
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o5 1 exponehnt
2.parentheses interior 9-4=5
4-9 2(-H) Xﬁ —lpafgﬂﬁﬂgﬁgf :Er;(ttenrrl%rr fB? S - 20 3. Bjarenteses exterior 5x2=10
3 lld left t ht - = 4.division 10/2=5
mult/div ..PL x%rlg —u.subtraction 25-5=20
1. exponent
2. parentheses mterlor 36-3=33
&- 1.exponents (including roots) 13 3.division 33/3
3 + 52 19 2.add/sub left to right 3+25-9=19 2 + 4, addltlonfsubtractlon left to right 2+11=13
1.parenthesesinterior5+4=9 1.parentheses interior 5-2=3
2.parentheses exterior 9 x 8 = 72 7 2.parentheses exterior 7x3=21
8'('5#-4) 12 = 3 multr’dw left to right 72/12 = 6 3 _I'__3idivision 21/3=7
Inside the radical:
1.exponent l.exponent
15 3 12 22 mLFJ]lt in parentheses = 5 2.multiplication 3x3=9
2 4 3.subtraction in parentheses 3.addition 9+16=25_
—7.parentheses exterior multi Llcatlon 2x3 6 7.the square root of 25is 5

5.subtraction left to right 6-

1 7 %exponéehnt 8 1
arentheses 8+
2 m"' m 11 (‘8%\2. + ]Ii: 3. glwsmn 12/2=6
l.exponent —4. addition 6+1=7
16-12 +7 2milt/divieft to right 6x2-12 and 14/2=7
3.addition/subtraction left to right 16-12+7=11



